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145|425 18 —figTiE |[HEABAR A 13.6[W=_ 5.0(C 40)m| 1 H9 PCiE I H30
146| L RiEE —fgmiE |FRLEER A 4.1W=_10.6 (_10.1)m | 1 H9 A yhRpn b I H30
147|703 —fiEThiE | B AR A 3.5W=_ 59 ( 56)m| 1 H8 RCiE I H30
148|EIEE —fgmhE |ERIEAR A 13.5MW=_ 4.7 (C 4.1)m| 1 H8 PCiE I H30
1495 () 1148 (GEERIE) 1#pE (AL AR GEREE) A 12.6[W=__ 8.0(C 7.0)m| 1 H8 PCiE I H30
150 | FH#)IE (NEHE) 1EHE ([FEA SRR ChEE) A 13.0W=_ 3.8 ( 3.0)m| 1 H8 PCiE I H30
151| =F1 548 —fiEThiE |EFEIEHR A 4.8W=_ 3.3 ( 30)m| 1 S48 RCiE I H30
152| = 72548 —fgmhiE | B AR E TR A 3.7W=__ 3.3 ( 3.0)m| 1 S21 RCHE I H30
153| EFE3IE1E —fEE | SMERR A 3.0W=_ 33(C 30)m| 1 S48 RCiE I H30
154 | ¥4t 45 — g |SMER2EH A 3.4W=__ 2.9 (C 2.6)m| 1 S12 RC#E I H30
155| € 413 —fehiE |[ER=RAK A 2.9W=_ 3.9 (C 33)m| 1 H9 RCiE I H30
156 | & ¥k4E — g | S MG R A 2.0W=__ 6.1 (C 55)m| 1 H3 A yhRpn b I H30
157| @155 —fgThiE |AiTE K AR A 4.0W=_ 6.9 ( 6.2)m| 1 H6 &y b I H30
158| X H2548 —fgmE | K EATAR A 4.1W=__ 5.1 (C 43)m| 1 H6 A yhRpn b I H30

| 169|% 2 48 —fgiE | FEATR A 5.4W=_ 4.1 (C 35)m| 1 H8 RCiE I H30
160| & 58 ithis 1EmE (FEh SRR A 4.3W=__80(C 7.0)m| 1 H3 RC#E ig RO1
161 |FE A4S —figTE | T HHR A 4.0W=_ 3.0(C 25)m| 1 H9 RCiE I RO1
162| M1 548 —fRTE (M ARBR A 8.1W=__ 6.5 ( 6.5)m| 1 H6 A yhRpn b I RO1
163|RA2E1E —iRTE (e AKBER A 2.5W=_ 7.5 ( 7.1)m| 1 H6 &y b I RO1
164|RIR4E —fRTE (M ARBR A 9.6W=__ 6.0 ( 50)m| 1 H3 RC#E I RO1
165| R H3E1E —fgThiE |FEEL A R R A 2.5W=_ 6.2 ( 6.0)m| 1 H6 RCiE I RO1
166|222 )II/ME —fgmE |IhERBR A 7.1W=__ 59 (C 46)m| 1 H3 RC#E I RO1
167 | #4548 —BHE |[RERBR A 4.4W=_ 7.9 (C 7.1)m]| 1 H9 RCiE I RO1

| 168+ 545 —fgmiE | —EEA R A 2.3W=__ 3.2 ( 3.0)m| 1 H3 A yhRpn b I RO1
169| R H4E1E —fgTiE AR A 5.8W=_ 45(C 41)m| 1 H6 &y b I RO1
| 170|445 (1-1) — el |[E2EEER A 2.2W=__ 56 ( 52)m| 1 H3 A yhRpn b I RO1
| 1714+ 48 1RHE (BRIEPER A 4.6W=__ 5.4 ( 4.8)m| 1 H9 RCiE I RO1
| 1724248 (1-2) —#eTHE | FEH6S R A 6.0W=__ 6.8 ( 53)m| 1 H8 A yhRpn b I RO1
173|418 (1-3) —feThiE | FSEISH A 6.3W=_ 46 ( 40)m| 1 H8 RCiE I RO1
| 174|#2 45 (1-4) —#eThE | FEHISHR A 6.4W=__ 4.6 (_ 40)m| 1 H8 RC#E I RO1
175|418 (1-5) —fghE | FERIEE A 4.4W=__ 4.6 ( 40)m| 1 H8 RCiE I RO1
| 176|445 (1-6) —feTE | FEEI2EHR A 4.4W=__ 4.9 (C 4 1)m| 1 H8 A yhRpn b ig RO1
177|418 (1-1) —femhE | FERISH A 6.3W=_ 46 ( 40)m| 1 H8 PCiE I RO1
| 178|445 (1-8) —fgE | ARFASEH A 4.4W=__ 4.8 ( 40)m| 1 H6 RC#E I RO1
179|418 (1-9) —METHE | KRFACEH A 6.0W=_ 6.5( 42)m| 1 H6 &y b I RO1
| 180|445 (1-10) —fgmE | KRISH A 4.8W=__ 4.6 (_ 40)m| 1 H3 RC#E I RO1
181 |5 Z 4B (1-11) —fghiE |R—RI1354R A 2.4W=__ 6.7 ( 6.3)m| 1 H6 &y b I RO1
| 182|445 (1-13) —fgmE BT HISH A 8.4W=__ 48 ( 40)m| 1 H6 RC#E I RO1
183 |5 Z 48 (1-14) —fehE |R—E3E5H A 3.7W=__ 4.8 (C 40)m| 1 H3 &y b I RO1
| 184|445 (1-15) —fgmE |H—E5EH A 5.3W=__ 4.8 ( 40)m| 1 H3 A yhRpn b I RO1
185|#& % 48 (1-16) —fieThE | RREE SR A 5.3W=__ 6.8 ( 6.0)m| 1 H3 PCiE I RO4
186| HiEiE —HeTE RS HAR2205 43 A 7.7W=__ 3.6 (_ 3.0)m| 1 S61 RC#E ig RO1
187 1LIEE4E 28y | LLEER A 8.3W=_11.1 ( 10.3)m| 1 S62 RCiE I RO1
| _188|i5F 1548 —HEThE |#HEF4X150548 A 2.0W=__ 40(C 40)m| 1 S61 RC#E ig RO1
1891 F 2518 —figThiE e HAR19954R A 3.5W=_ 39(C 39)m| 1 H2 RCiE I RO1
190 F 3548 28priiE [ ILEER A 12.2W=__ 8.6 ( 7.8)m| 1 $53 PCiE ig RO1
191|#EF4518 1RHE [ KRRER A 12.4W=__ 8.2 ( 7.0)m | 1 H2 PCiE I RO1
192| B F 5548 28prhiiE [ ILEER A 4.0W=_13.4 (_10.3)m | 1 $25 A yhRpn b I RO1
193|1EF6E15 1RHE [ KRRER A 9.4W=_ 82 ( 7.0)m| 1 H2 PCiE I RO1
194|BF 1818 —HETE RS HAK2055 % A 3.IW=__ 4.7 ( 45)m| 1 H2 A yhRpn b I RO1
195/ R854 —fEThiE |EF4AX21154R A 5.5W=_ 4.8 ( 40)m| 1 $58 RCiE I RO1
1968 F 9548 —HTE |HEFAR21154R A 3.4W=__ 55 (C 51)m| 1 H2 A yhRpn b I RO1
197|#F 10548 —HEThiE |EF4X192548 A 9.3W=_ 41 (C 3.6)m| 1 $52 PCiE I RO1
1985 F 11548 —HTE |#HEF4X19354R A 5.3W=__ 3.7 ( 34)m| 1 $52 PCiE ig RO1
19|#F 12548 28y | LLEER A 8.4W=_ 85( 7.7)m]| 1 $52 PCiE I RO1
200|#5F 13548 —HTE |HEF4X194548 A 5.3W=__ 3.7 ( 33)m| 1 $52 RC#E m RO1
201|#F 14548 —HEThiE |#EF4X19554R A 5.3W=_ 3.7( 3.2)m| 1 $52 RCiE I R02
202|#F 15548 —HETE RS HAK198E R A 4.3W=__ 4.4 40)m| 1 $53 RC#E ig RO1
203|#EF 16548 —fiehiE (RS HAR265 4R A 4.7W=__ 4.2 ( 3.8)m| 1 $58 RCiE I RO1
2045 F 17548 —fgmhiE S HAR565 4 A 6.8W=__ 58 ( 50)m| 1 $58 PCiE I RO1
205|#EF 18548 —fiehiE (RS HAR54EHR A 7.3W=__ 4.6 ( 40)m| 1 H1 PCiE I RO1
206\ H 1515 —HETHE RS HAR1695 R A 2.4W=__ 4.2 (_ 3.8)m| 1 H5 A yhRpn b I RO1
207|FEEH2E15 —fgThiE RS HARI100548 A 6.9W=_ 43 ( 35)m| 1 S61 PCiE I RO1
208|FE £ HIEE —fgmhiE |FEHIR235H A 4.1W=__9.5( 88)m| 1 $58 A yhRhn b ig RO1
209|FE£ HAEE —fighiE RS HAR14BH A 6.8W=_50(C 44)m| 1 H5 RCiE I RO1
210/ HE1E —fgmhiE |FEHIR235H A 12.3W=__ 4.8 ( 4.0)m| 1 $62 PCiE I RO1
211|FE£ #6515 —fiehiE RS HAR195H A 2.6W=_ 44 44)m| 1 H5 RCiE I RO1
2|FEEHTENE —fgmhiE |FEHIR235H A 3.8W=_ 47 (C 41)m| 1 H5 A yhRhn b I RO1
213|FE£ H8E1E —fgThiE (e HARI81 54 A 5.6W=_ 4.6 ( 40)m| 1 S61 RCiE I RO1
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214\ HIBE —fEThiE RS HAR183E4R A 4.1W=__ 6.6 ( 6.0)m| 1 S61 &y b I RO1
215\ H 118418 —HTHE |HEF4X19654R A 4.0W=__ 4.4 40)m| 1 $53 RC#E ig RO1
216|FE£H 12548 —HEThiE |EF4X21154R A 5.4W=_ 4.8 ( 4.0)m| 1 $58 RCiE I RO1
217|E£H#13818 —HTHE |HEF4X19654R A 3.IW=__ 44 40)m| 1 $53 RCHE I RO1
218|FE£H 14518 —HEThiE |EF4RX197T54R A 3.9W=_ 43(C 39)m| 1 $53 RCiE I RO1
219|FE£H16518 —fgmhiE S HARATHR A T1W=__ 3.6 (. 3.1)m| 1 H5 RCHE I RO1
20| H11548 —feThiE e HARI12054 A 7.8W=__ 7.0 6.0)m| 1 H5 PCiE I RO1

| 221|445 (D-1) —HETHE |HEF4X21354R A 4.3W=__20.6 (_19.8)m | 1 $58 A yhRhN —h ig RO1
222|F9Ri1 548 —HEThiE | KFHMEIRII3EHR A 2.0W=_ 30(C 30)m| 1 S60 RCiE I RO1
223|FIRiI2 548 —HETE |PIRT4KA95 4R A 2.3W=__ 6.3 ( 53)m| 1 H1 RCHE ig RO1
224|FIRI3 S48 1R HE ([PIATERA IR A 8.6W=_ 9.3( 83)m| 1 S61 PCiE I RO1
225|945 18 —HETE |PIRT4X 223548 A 9.3W=__ 4.8 ( 40)m| 1 H5 PCiE I RO1
226|FIRIS S48 —HEThiE |PIRT4XI6 B4R A 6.9W=_ 49 (C 41)m| 1 S61 RCiE I RO1
227|915 48 —figmhiE |FIRIAR 65 R A 5.4W=__ 2.4 ( 2.2)m| 1 H1 RC#E I RO1
228|FIRI8 S 18 —figiE |PIRTAR6E R A 9.4W=_ 4.6 ( 40)m| 1 H1 PCiE I RO1
229|FIRI9B 48 —figmhiE |FIRIAR 65 R A 9.4W=__ 4.6 (_ 40)m| 1 H1 PCiE I RO1
230|P9RI10548 —figiE |PRTAR ISR A 9.4W=_ 4.6 ( 40)m| 1 H1 PCiE I RO1
231|P9Ri11 548 —figmhiE |FIRIAR 65 R A 9.4W=__ 3.6 ( 3.0)m| 1 H1 PCiE I RO1
232|P9RI12548 —HEThiE |PIRT4ARK 12548 A 9.4W=_ 4.6 ( 40)m| 1 H1 PCiE I RO1
233|F9Ri 13548 —fgmhiE S HARIITH A 9.4W=__ 4.6 (_ 40)m| 1 H1 PCiE ig RO1
234|PRT14548 —fighiE RS HAR5054 A 11.2W=_ 4.8 (C 40)m| 1 H1 RCiE I RO1
235|F9RiI 16548 —fgmhiE |FEHARISTH A 7.4W=__ 2.3 2.0)m| 1 H1 RC#E ig RO1
236| K FHHE —fRTiE SRS FHR A 7.0W=_ 5.1 (C 43)m| 1 S43 RCiE I RO1
237| RF#MAIEHE —fgmiE |t S HIRI15254 A 50W=__3.0(C 2.8)m| 1 $62 RC#E m RO1
238| KHHISE —HEThiE L HIR1525 A 5.2W=_ 4.7 (C 4.2)m| 1 $59 RCiE I RO1
239| KFHHAEE —HETHE | KFHEIXI160S A 3.3W=__ 45(C 42)m| 1 $59 RC#E ig RO1
240| KHHLIE1E —HEThE | KFHMEIR1635H A 2.3W=__ 48 (C 4.2)m| 1 $59 &y b I RO1
241| KFHHEEE —HETHE | KFHEIKI1645R A 2.6W=__ 6.0 6.0)m| 1 $59 A yhRhN —h ig RO1
242| K HEE1E 1RHE [ ARMAETHR A 6.4W=_ 9.9 9.4)m| 1 S60 RCiE I RO1
243| KFHHIEHE —HETE | KFHEIK2855 4R A 5.9W=_ 2.8 ( 2.2)m| 1 S60 RC#E ig RO1
244/ X3+ HA10548 —HEThiE | KFHMEIR287TEH A 3.2W=_ 33(C 3.0)m| 1 S60 RCiE I RO1
245\ X3 11548 21pTiE [STHAR A 2.7W=__ 7.8 7.0)m | 1 H5 A yhRhN b I RO1
246| X3 A 12548 —HEThiE | KFHMEIRI065H A 5.0W=_ 3.8 (C 35)m| 1 S60 RCiE I RO1
247\ X3+ H13548 —HETHE | KFHEIXITEHR A 4.0W=__ 3.8 ( 3.5)m| 1 S60 RC#E I RO1
248 X3 HA14548 —HETHE | KFHMEIR2925 A 3.0W=_10.1(C 7.2)m| 1 S61 &y b I RO1
249\ X3+ M 15548 —HETIE | KFHEIK299E R A 4.9W=__ 4.6 (_ 40)m| 1 S61 RC#E ig RO1
250| X3 A 16548 —HETHE | KFHMEIR2975#H A 4.8W=__ 6.6 ( 6.0)m| 1 S61 RCiE I RO1
251| X3+ ME17548 —HETHE | KFHEIKI2HEHR A 2.4W=__3.0( 2.6)m| 1 H5 RC#E I RO1
252\ X3+ H 18548 —HETHE | KFHMEIXI265 A 6.3W=_ 4.6 ( 40)m| 1 S61 PCiE I RO1
253| X3 H22548 —HETE | KFHEIX2435 4R A 7.3W=__ 54 ( 48)m| 1 H5 PCiE ig RO1
254| X3 H23518 2y [STHAR A 9.3W=_ 45(C 41)m| 1 S60 RCiE I RO1
255| X & 548 —HETHE S HIK1525 R A 4.7W=__ 4.8 (C 4.2)m| 1 $62 A yhRhN b ig RO1
256 A T2518 —fETiE | SRS FHR A 4.2W=_ 2.6 ( 2.6)m| 1 S49 RCiE I RO1
257|FR1548 —HTHE | A& T2X2265 4% A 5.6W=__ 4.7 ( 41)m| 1 S60 RC#E I RO1
258 FI1R2 518 —fThE | FIR2X2305 4R A 5.4W=_ 4.7 (C 41)m| 1 S60 RCiE I RO1
259|FI1R3IBHE — 3T | FIRIX223 548 A 5.6W=__ 4.6 ( 40)m| 1 S60 RC#E I RO1
260|FIR4S1E — T | FIR2X22354% A 5.4W=_ 4.6 ( 40)m| 1 S60 RCiE I RO1
261|FR5518 —fgmhiE |AEEIRT0SH A 7.4W=__ 9.3 ( 88)m| 1 H5 RC#E I RO1
262 FIZ6 518 —feTHhE | TIRIXA8T4R A 2.2W=__80(C 3.9)m| 1 $59 &y b I RO1
263|FI1X8E1E — 3T | FIRIX231 548 A 2.8W=__ 53 ( 48)m| 1 S60 A yhRhN b I RO1
264 FIZ9S1E — e | TIRIXTISHR A 3.3W=_ 45(C 41)m| 1 $59 &y b I RO1
265|FIZ10548 — e | FIRIXTIEHR A 3.9W=__ 88( 86)m| 1 $59 A yhRhN b ig RO1
266| FiF11518 —BTHE | TFIFIX56E4 A 7.0W=_ 80(C 7.0)m| 1 H2 RCE I RO1
267|FZ12848 —fgmhiE |AEEIRISEHR A 4.7W=__ 3.6 (  3.0)m| 1 H2 RC#E I RO1
268|FIZ13548 1RHE [ ARMETHR A 2.3W=_ 7.1 ( 6.5)m| 1 H2 &y b I RO1
269|FIR14548 —f3THE | FIRIX 148548 A 2.6W=__ 4.7 (C 41)m| 1 H2 A yhRhN b I RO1
270| F1Z15518 —BTHE | FIFIX132848 A 6.5W=_ 4.8 ( 40)m| 1 H2 RCE I RO1
21 [FEZR1T18HE —#THE |AEHEIR21054 A 2.4W=__ 3.4 ( 3.4)m| 1 S57 RC#E I RO1
272|EHNB1E —BTHE | FFIX2238 48 A 5.4W=_ 4.6 ( 40)m| 1 S60 RCE I RO1
23| BN ERE 21l =SB AFHMBR A 3.0W=__ 6.4( 6.0)m| 1 H5 RC#E I RO1
274| 2 HASHE —fEThiE |SIBX122548 A 2.5W=_ 80( 80)m| 1 S62 &y b I RO1
275| B HISE4E — M SR 12754R A 4.2W=__ 4.4 40)m| 1 $62 RC#E ig RO1
276|ZHI6 518 —HETHiE |SHI3X13654R A 4.0W=_ 43 (C 39)m| 1 S62 RCiE I RO1
277|2H9E4E 1EHE ([ KRHEIER A 2.8W=__12.4 (__10.5)m | 1 $62 A yhRhN b I RO1
278| #HBAHE —fETiE | SRS FH R A 4.8W=_ 4.3 ( 40)m| 1 S43 RCiE I R02
219| FtE2 B8 —HETE | AAE2X 155548 A 4.3W=__3.8( 3.4)m| 1 H5 RCHE ig RO1
280| FEE5 S48 —HEThIE |AAE2X 182548 A 5.4W=_ 4.6 ( 40)m| 1 S60 RCiE I RO1
281|F1E6 548 —HETE | AAE2K 179548 A 5.4W=__ 4.6 (_ 4.0)m| 1 S60 RCHE ig RO1
282 FEE 1518 —HEThIE | AAE2X 180548 A 5.4W=_ 4.6 ( 40)m| 1 S60 RCiE I RO1
283| F1E8 B 15 —HETIE | AAE2K 181548 A 5.4W=__ 4.6 (_ 4.0)m| 1 S60 RCHE ig RO1
284 |BIHRFEEAE —fgmhE [FHENIEIREE A 14.7W=__ 5.2 ( 40)m| 1 S61 RCiE I RO3
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285|FHEJIAT1545 — e |[FENAT2RITIER k=1 4.9W=_ 4.6 ( 40)m| 1 H1 RCiE I RO1
286 FHENIA T 2548 —fgE | FHENNAT2RIT1S4 A 4.8W=__ 4.6 (_ 40)m| 1 H1 RC#E I RO1
287|FHEJIA T3E4E —fHE |[FENAT2XI170548 k=1 5.4W=__ 6.6 ( 6.0)m | 1 H1 RCiE I RO1
288 FHE)I A TAE1E —fgE |FHENIA T2R1665 4 A 2.9W=__9.0(C 6.0)m| 1 H1 A yhRhN —h I RO1
289|FHEJIA T5E4E —fEThiE |REE2X 199548 A 5.3W=__ 4.6 ( 40)m| 1 H1 RCiE I RO1
290|FH4 )1 R 1548 —fgE |FHE)IP2R1985 43 A 3.8W=__ 46 ( 40)m| 1 H1 RCHE I RO1
201|FH4 )1 2518 —HTHE |FFAENAT2X1665 4 k=1 4.9W=_ 4.6 ( 40)m| 1 H1 RCiE I RO1
292|714 L1548 2Bl | ARILPR A 5.3W=__ 7.8 (  7.0)m| 1 $30 RCHE ig RO1
293|FH4)IE3BHE —fgThE |FHE)IE2R65 8 A 2.8W=__ 40(C 3.6)m| 1 H4 RCiE I RO1
294|F4 )1 LABHE —fgmE |FHE)IP2R3I3E R A 3.IW=__ 7.4 7.0)m| 1 H4 A yhRhN —h I RO1
205|FH 4 )1 E5 1B —HeTHE |F4) E2R205 4 A 5.4W=_ 3.1 ( 31)m| 2 H2 RCiE I RO1
296|F14 )1 L6548 —fgmE |FHE)IE2R225 4R A 3.9W=__ 6.6 ( 6.0)m| 1 H2 RC#E m RO1
207|F4NETEE —feThiE | A28 SR A 2.5W=_ 9.4(C 9.2)m| 1 H5 RCiE I RO1
298|4t1L#E —fgmhE |REILIR1365H A 10.1W=__ 6.0 (  50)m| 1 H5 PCiE I RO1
299| AL 515 —fehiE |AELILIR3ER A 6.4W=_ 3.5 ( 3.0)m| 1 H5 RCiE I RO1
300| AL IL2E4E —fgmE |FHE)IE2R5E R A 3.3W=__ 6.6 ( 6.0)m| 1 H2 RC#E ig RO1
301| AL IL3EE —fehiE BRI IR1365 A 5.1W=_ 6.0 50)m| 1 H5 PCiE I RO1
302| AL ILAEE —fgmE | RN RS A 6.3W=__ 4.8 ( 40)m| 1 H3 RC#E ig RO1
303| AL BB —fehiE AR IR185HR A 4.6W=_ 7.9 ( 7.4)m| 1 R4 RCiE I RO1
304 tth B 45 — M |AEREIR2415R A 59W=__ 45(C 40)m| 1 H5 RC#E I RO1
305| L2515 —fieThiE |RER2X240548 A 13.0W=__ 6.0(C 50)m| 1 H3 PCiE I RO1
306| HEILIEHE — g |REILIRI2E5 A 4.3W=__ 5.4 ( 46)m| 1 H2 RC#E ig RO1
307| AEL4EE —feThiE AR R2654 A 2.5W=_ 45(C 41)m| 1 H2 RCiE I RO1
308| HHEIL6EIE —fgmiE |AEILIR211 54 A 6.4W=__ 3.5 ( 3.0)m| 1 H5 RC#E I RO1
309| AEILTEE —feThiE |AEILIR2054 A 3.6W=_ 23(C 2.0)m| 1 H5 RCiE I RO1
310| LB —fgmhE |REILIRI136EH A 4.7W=__ 80 (C 7.2)m| 1 H5 RC#E ig RO1
31| A#ILIEE 2piE | KARILBR A 4.8W=_ 5.0( 4.8)m| 1 $55 RCiE I RO1
312|HEL1084E —fgmiE | AL K645 HR A 5.1W=__ 6.1 ( 53)m| 1 S61 RC#E I RO1
33| AL 28y | AEALHEA R A 8.2W=_ 82( 7.0)m| 1 H3 RCiE I RO1
14| HEEIEE 21l | ARILPR A 11.9W=_ 8.2( 7.0)m| 1 $55 PCiE I RO1
315| AH#EASE —fgiE | AR TSR A 4.6W=_ 7.5 ( 3.9)m| 1 H5 &y b I RO1
316| A EELEE —fgmhE |REREIREE R A 6.4W=__ 6.6 ( 3.4)m| 1 H5 A yhRhN b I RO1
317| A#E6S1E —fEhiE |RERIRAER A 3.5W=_ 6.5( 2.8)m| 1 H5 &y b I RO1
18| HEETIEE —femhiE |AEEIRASE A 2.8W=__ 4.4 40)m| 1 H5 A yhRhN b I RO1
319| A#E8E1E —femiE | RERE RIS A 5.8W=_ 6.6 ( 52)m| 1 H5 RCiE I RO1
320| HHEEIEE 21T | FHENINKER A 2.3W=__10.3 (_9.8)m | 1 $56 A yhRhN b ig RO1
321| AHEEI051E —figThiE | RS RIRIA0ER A 3.6W=_ 6.9(C 6.3)m| 1 $56 RCiE I RO1
322| F & Ig4E —fgmhiE |AEEIRITEHR A 3.0W=__ 6.1 (C 6.0)m| 1 S51 RC#E ig RO1
33| AEEI 518 —feThiE | R X605 4 A 8.4W=_ 48 ( 40)m| 1 S61 PCiE I RO1
324|EFE — g | AR5 A 5.5W=__80(C 7.0)m| 1 S61 A yhRhN b I RO1
325\ FZ2)I48 —fieThiE |RERE2X24054% A T1W=_ 46 (C 41)m| 1 $29 RCiE I RO1
326| HEERIEE —fgmE |FHE)IP2RB4B R A 5.4W=__ 4.6 (_ 4.0)m| 1 H1 RC#E I RO1
327 A R2EE —fehiE |REE2RET SR A 5.5W=_ 4.5 ( 40)m| 1 H3 RCiE I RO1
328| HERIEE —fgmhiE |AEE2R05H A 13.6/W=__ 6.2 ( 50)m| 1 H3 PCiE ig RO1
329| A RASE —fehiE | REE2RI2EHR A 4.9W=_ 3.6 ( 3.0)m| 1 H5 RCiE I RO1
330| HE RSB —fgmhiE |AEE2RI2EHR A 4.9W=__ 4.6 (_ 40)m| 1 H5 RC#E I RO1
331 | AE RSB —feThiE |RERE2X10254 A 4.8W=__ 4.0(C 40)m| 1 H5 &y b I RO1
3| HERIEE —#THE |AEHIXI1055 A 3.2W=__ 44 40)m| 1 H5 A yhRhN b ig RO1
333 A REEE —feThiE | REE2RI1ER A 9.4W=_ 4.6 ( 40)m| 1 H5 &y b I RO1
33| HERIEE — M |AEREIR21354R A 4.4W=__ 4.7 (C 41)m| 1 H5 RC#E I RO1
335| AHEERI051E 1RHE | REAFAR A 2.3W=__ 6.6 ( 6.1)m| 1 H5 RCiE I RO1
336| HERI1EE —fgmhiE | AR89 A 2.3W=__55(C 51)m| 1 $56 A yhRhN b I RO1
337| AERI3EHE —feiE |RERIREER A 5.9W=_ 6.7 ( 47)m| 1 H5 &y b I RO1
338| A48 —fgmE |FHE)IP2RB4B R A 3.7W=__9.0(C 9.0)m| 1 H1 A yhRhN b I R02
339|FEIEE —fEThE |FEIXI1354R A 2.2W=__ 5.6 ( 53)m| 1 H5 RCiE I R02
340|FEABE — M |FEIR11254 A 2.0W=__ 53 (C 50)m| 1 H5 RC#E I R02
341 |FESBE —fEThE |FEIRKI12254 A 4.4W=__ 4.6 ( 40)m| 1 S57 RCiE I R02
342|FE6E1E — M |FEIRI2154R A 3.9W=__ 46 ( 40)m| 1 S57 RC#E I R02
33| FEIEE —fEThiE |FEIX21854R A 5.4W=_ 4.6 ( 40)m| 1 S57 RCiE I R02
344|FEBEE —HETE |FEIX21954R A 5.0W=__45(C 40)m| 1 S57 RC#E I R02
345 FEISHE —fEThE |FEIXI1SER A 5.4W=_ 45( 40)m| 1 S57 RCiE I R02
346|FEH A 1545 —fgmhiE |FEHMAIX2325 4R A 5.4W=__ 4.5 ( 4.0)m| 1 $56 RC#E ig R02
47| FEHM2EE —femhiE |FEHAIRX23TER A 4.2W=_ 3.5( 3.0)m| 1 $56 RCiE I R02

| 348|8RiR 1518 —HETHE |$AR3K 195548 A 3.4W=__ 4.6 ( 3.8)m| 1 $56 RC#E I R02

| 349|8AiR2 518 —HEThiE |$RR3X 198548 A 4.2W=__ 4.6 ( 3.8)m| 1 $56 RCiE I R02
| 350|$AiR3 518 —HETHIE |$AR3K 196548 A 4.1W=__ 4.6 ( 3.8)m| 1 $56 RCHE I R02
| 351|$AiR6S18 —HETHIE |$RR3X 24554 A 4.1W=__ 4.6 ( 3.8)m| 1 $56 RCiE I R02
352 AR154E —HETHIE | KFHEIKI0EHR A 5.8W=__ 7.7 ( 7.2)m| 1 S61 RCHE ig R02
353|418 (D-2) —fiEThiE RS HARBER A 7.6W=_ 7.5 ( 6.3)m| 1 H1 RCiE I R02
| 354|480 BE —HRTHE | Ve REGRTR A 6.4W=__ 3.9 ( 35)m| 1 S27 RCHE ig R02
355|;B1E —HETHE | WVAENEGRITR A 9.8W=__ 40(C 37)m| 1 $26 PCiE I R02




EHEHERENRIBRE K

&S BRE BRARIE A BRIRA SEERE| HER (m) L] R FERER | LM EANY | SRKS | SRER &E
| 356|iEA1E — T |LVEREGRTER 5 10. 6{W= 1.4 ( 6.5)m 1 S49 PCi5 I RO2
357|#2 048 —HETTE | LVEAREGATER k-l 1.8[W= 1.4 ( 6.6)m 1 349 PCiB I RO2
358| 215 — T |V A 8.2|W= 1.6 ( 6.6)m 1 S55 PCi5 I RO2
|_359|#8lkAE —HETTE |V ANEGATER B 12.0|W= 5.1 (C 4.5)m 1 S28 RC#B I RO2
360[#®A 15 (D-3) — g [FEHIEF ISR A 3.5\W= 9.1 ¢ 9.1)m 1 S25 RC#8 I RO2
361 | FIE 21RE |REFR B 2. 7\W= 1.2 ( 6.6)m 1 335 RC#B I RO2
362| FH KI5 — g [ TFELR 5 2.9|W= 3.8 ( 3.2)m 1 S35 RC#8 I RO2
363 (R0 1148 2R E | EAER B 9.6{W= 5.2 (  4.6)m 1 346 RC#B I RO2
364|E)IIHE —HgTiE | REHR 5 12.5\W= 3.9 ( 2.9)m 1 S21 RC#8 I RO2
|_365|##3 —fgmiE | THRTEHR B 5.5(W= 3.5 ( 3.1)m 1 827 RC#B I R0O2
366|ILIHE — g |HER 5 7.4W=___ 45 (C 4.0)m 1 S45 RC#8 I RO2
3675518 —fgmiE |FEHRXEFR B 11.0\W= 5.2 ( 4.0)m 1 H10 PCiB I R0O2
368|FB—15 —HgTTE |RAER 5 5.9W=__ 45(C 4.1)m 1 S42 RC#8 I RO2
| 369 &1 — gl | KEFE AR B 14. 7\W= 6.0 ( 5.0)m 1 H4 PCiB I RO3
370 (A4S —fgriiE | KEF AR 5 2.0[W= 5.7 ( 5.2)m 1 R3 RC#8 I RO2
3N |HI 2 B18 —fgmiE | KEFABTRR B 3.0W=_45(C 41)m 1 47 A yhrawn -k I R0O2
372\ KHB — gl | KEFATRR A 6.4W=_ 4.0 ( 3.2)m 1 S57 RC#8 I RO2
RYRIGiE 524 —fgmiE | KEFABTRR B 3.0W=_4.0¢( 3.5)m 1 47 RC#B I R0O2
374| F2UIts —hgriE T2 UlR 5 9. 3|W= 3.5 ( 2.5)m 1 S58 RC#8 I RO2
375|KtN48 — gl [ F2 U8R B 8.5\W= 3.1 ¢ 2.5)m 1 337 PCiB I R0O2
376| L BB —HgTTiE [RALO#H 5 5. 4\W= 5.6 ( 5.0)m 1 S49 RC#8 I RO2
377|548 — g |IIER B 3.5(W= 3.5 ( 3.1)m 1 H29 A yhrawn -k I RO2
378|948 —HgTTE | KRR 5 2.5\W= 3.0 ( 2.7)m 1 RO2 A yhrawn -b I RO2
3793ENI#E —HETTE |RAEEER B 4. 7W= 2.5 ( 2.3)m 1 S28 RC#B I RO2
380|AF AJIIE —HgTTiE [ KBRER 5 3.7W=_ 4.2 ¢ 3.8)m 1 S49 RC#8 I RO2
381| BB —fgmiE |PEISHR B 2.5(W= 6.2 ( 6.2)m 1 S40 RC#B I RO2
382|ifK45 —hgTiE SRR 5 2.2\W= 2.8 ( 2.8)m 1 S36 RC#8 I RO2
383|/MiA—18 — BT /MR B 2.6\W= 6.6 ( 6.6)m 1 S40 RC#E I RO2
384/ HB — T [V 5 2.5\W= 5.7 ( 5.7)m 1 S40 RC4E I RO2
| 385 |fin/FiE —fgTiE MR B 6. 3[W= 5.0(C 4.5)m 1 S59 RC#B I R0O2
386 |/ T48 —hgTiE (MR TR 5 6. 2|W= 53( 49)m 1 S58 RC#8 I RO2
387[ILiHEE—#8 —fgmiE [ KUEEFIER k-l 6.0[W= 3.2 ( 2.5)m 1 S30 RC#B I R0O2
388|iE 15 —hgTiE B 5 4.7W=__ 43 (C 4.1)m 1 S39 RC#8 I RO2
| _389| =18 —fgriiE | EARER B 11.4\W= 8.2 ( 7.0)m 1 47 PCiB I R0O2
390|FHE—15 —hE i | AR 5 8.5|W= 1.7 ( 6.5)m 1 S47 RC#8 I RO2
391|Fa% 18 —fgriiE | EARER B 8.5\W= 6.7 ( 5.5)m 1 47 RC#B I R0O2
392| & 4 ihi5 —HgTTiE |8y iR 5 13.5W=__ 4.8 ( 4.0)m 1 S48 PCi5 I RO2
393||/AIB —fgriE | £ 2 AR k-l 3.7W=__47(C 40)m 1 S50 RC#B I RO2
394| + B848 —feThiE |2EMEER 5 2.8|W= 2.2 ( 2.0)m 1 S28 RC#8 I RO2
395|=R1E —HgTTiE [BSRRATER B 3.8[W= 3.3 ¢( 3.0)m 1 S30 RC#B il RO2
396| s B/NERAE —MTHiE | RS RR A 4.2W=__ 4.4 (C 4.0)m 1 $30 RCiE I RO2
397|R T8 —fgniE | EARIG R RER B 2.5W= 4.1 ¢( 3.6)m 1 H2 A yhrawn -k I R0O2
398[F F1518 —hgTiE |RAAER 5 2.0[W= 3.5 ( 3.5)m 1 S36 A yhrpwn -b I RO2
399| B iRiE —fgrniE AR B 4. 7|W= 3.7¢( 3.2)m 1 H3 RC#B I R0O2
40| RE_18 — e [REEAR 5 2.0[W= 50( 4.4)m 1 S28 RC#8 I RO2
401|AN—18 —fgniE |BRIIERER B 3.0[W= 3.0( 2.6)m 1 336 RC#B I R0O2
402| EE/IME —igTTiE | ARG ERR 5 5.8W=__ 4.0 ( 3.5)m 1 S36 RC1E I RO2
403|FIE#E — e |JIE+4aR B 2.0[W= 1.2 ( 6.8)m 1 363 A yhrawn -k I R0O2
404|/NE—1E — g | THRERR 5 10.4W=__ 4.8 ( 4.0)m 1 H3 RC#8 I RO2
405|Fa R — 48 — g |[RR25HR B 5.3W=_48( 40)m 1 352 kil I R0O2
A06|FAR=1E — g [RA2EHR 5 10.6W=__ 4.8 ( 4.0)m 1 S53 il I RO2
407 |FA B Ut — g |[RR25HR B 6.9W=_48( 40)m 1 353 kil I R0O2
408| 7 E745 — g A5 5 14.5\W= 50(C 40)m 1 S53 PCi5 I RO3
409|h 2 E#E —fgmiE |PEREH R k-l 5. 1{W= 3.4 ( 3.0)m 1 349 RC#B I R0O2
410 £ 145 (F-3) — g |E 2 FAERR 5 2.5\W= 6.1 ( 5.7)m 1 H2 A yhrpwn -b I RO2
| 411|£E245 (F-4) —fgmiE B 25 B 3.5W=_49(C 47)m 1 S RC#B I R0O2
412\ /N4 — BTl | BB 5 2.3W=__8.2( 80)m 1 S51 RCiE I RO2
| 413|#E2Z 45 (F-5) —fETHE | S H2ER B 2.1{W= 2.4 ( 2.4)m 1 346 RC#B I R0O2
| 414|fEieE —hgTiE |EEER 5 3. 7\W= 2.5 ( 2.2)m 1 S38 RC#8 I RO2
45| EZ BB — g B2 BER B 3.0[W= 2.9 ¢( 2.7)m 1 336 RC#B I R0O2
416|OERE — e | SE2ER 5 5.5[W= 3.1 ¢ 2.5)m 1 S37 RC#8 I RO2
A7 (5B —fgTiE JBAER B 11.2\W= 3.8 ( 3.0)m 1 S61 PCiB I R0O2
418| R EE —fgriE (PIRBER 5 2.4W=__ 4.6 (  4.0)m 1 S46 RC#8 I RO2
19| EE—18 —fgmiE |[REISH B 3.0[W= 5.7 ( 5.3)m 1 S28 RC#B I R0O2
420|FaFRETHE — g |[REFHSR 5 3.1{W= 50(C 40)m 1 S30 A yhrpwn -b I RO2
421| B AP RIB —fgrniE |BRPERR B 2.6\W= 3.5 ( 3.2)m 1 47 RC#B I RO2
422|$® 4 — 15 (F-6) 18 hE | AR 5 3.5\W= 6.4 ( 6.4)m 1 S41 RC#5 I RO2
423|hH—18 —fgrniE [EERER B 11.4\W= 1.8 ( 7.0)m 1 47 kil I RO2
24| F 15 —hgrniE [EERER 5 9.1|W= 1.5 ( 7.0)m 2 S32 RC#5 I RO2
425|BbF 548 —fgTTE (B FRER B 13.5|W= 5.3 ( 4.5)m 1 S51 PCiB I RO2
426|75) || F15 — g IS EBARER " 2.2lW=_ 8.6 ( 7.7)m 1 S61 A yhrpwn -b I RO2
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427\ FeiM#E —fRTIE TR A 3.0W=_ 40(C 3.6)m| 1 H3 &y b I R02
428|ENE —HETE |[ERR A 2.8W=__ 4.8 ( 40)m| 1 H2 A yhRpn b I R02
429|018 —fETE |SRA PR A 7.2W=_ 3.4(C 31)m| 1 S43 RCiE I R02
430| K#248 28T | A 5.2W=__ 7.6 (_ 7.0)m | 1 S27 RCHE I R02
431| L T2 B4 —figThiE | FEERAR A 11.4W=__ 4.7 (C 40)m| 1 S51 PCiE I R02

| 432|mFEiF —fgmhiE |FERBER A 4.5W=__ 4.4 3.9)m| 1 $63 RCHE I R02
433|h E18 2y | FHRBERE A 7.0W=_ 7.6 ( 7.0)m | 1 $26 RCiE I R02
434| = HIHE 21phE | AMILO2EHR A 2.8W=__ 81 ( 7.4)m| 1 S8 RCHE ig R02
435|418 (F-1) —fgiE |[HRISH A 2.5W=_ 40(C 35)m| 1 H9 RCiE I R02
436| K2 B48 1#BHE | THREER A 12.8W=__ 8.2 ( 7.0)m| 1 S61 PCiE I R02
437|451 (F-8) 1BHE | THEREER A 2.8W=__80(C 7.0)m| 1 S60 &y b I R02
438| Bz B8 1#BHE | THEREER A 13.5MW=_ 8.2 ( 7.0)m| 1 S60 PCiE ig R02
439| |4 182 (F-9) 1BHE | THEREER A 4.6W=__ 80(C 7.0)m]| 1 $58 &y b I R02

| 440|453 (F-10) 1#BHE | THEREER A 2.8W=__80(C 7.0)m| 1 $58 A yhRpn b I R02
441||A 18 (F-11) —fiETiE | B REETR A 2.7W=__ 3.8 ( 3.8)m| 1 H4 RCiE I R02
2| B ERE 21l | KREEILR A 6.0W=__ 6.3 ( 55)m| 1 H2 RC#E I R02
443| KER#E —iETE | KBRAPER A 3.0W=_ 40(C 34)m| 1 H3 &y b I R02
44| T ENE 1EHE (RIBRAR A 13.5W=_ 8.2 ( 7.0)m| 1 H1 i1 I R02
45| FIIR1EHE 1RHE ([RIERAER A 4.5W=__ 8.2 ( 7.0)m]| 1 H2 &y b I R02
46| F)IIR3IEHE 1EHE (RIBRAER A 4.5W=__ 82 ( 7.0)m| 1 H2 A yhRpn b ig R02
447 | F+ RS 1RHE ([RIERAER A 13.5W=_ 8.2( 7.0)m| 1 H3 il I R02
448|/NiE RS 1EHE (RIBRAER A 14.5W=__ 8.3 ( 7.0)m| 1 H3 PCiE I R0O3
449t B EE —iRTHE SRAEE SR A 12.5W=__ 4.8 (C 40)m| 1 H8 PCiE I R02
| 450|442 45 (F-12) —fgE |JLIER2E R A 2.3W=__ 4.4 44)m| 1 H4 A yhRpn b ig R02
451 |\ A 182 (F-13) —feThiE B 25 A 20W=_ 3.7(C 37)m| 1 T14 RCiE I R02
452 =048 28piiE | B AR A 2.0W=__9.9(C 9.4)m| 1 $62 A yhRpn b ig R02
453 | A INE 2piiE | B AR A 3.7W=__ 3.6 ( 3.6)m| 1 $30 RCiE I R02
454| KEBHE 1#hiE RAILO2EH A 8.3W=__51(C 45)m| 1 H8 il o} I R02
455 | A 15 (F14) —fgE e AR A 8.5W=_ 4.8( 40)m| 1 H13 RCiE I R02
| 456|245 (F15) —fehE MEEF 1SR A 7.4W=_ 40(C 35)m| 1 H13 RCHE I R02
457 |48 (F17) —fiEThiE | AR A 10.2W=__ 4.6 (. 40)m| 1 H2 PCiE I R02
| 458|445 (F18) —HETIE )T R A 11.0W=__ 56 ( 50)m| 1 H2 PCiE I R02
459|418 (F19) —figiE |SREAR A 4.6W=_ 4.8 ( 42)m| 1 H6 RCiE I R02
460|/MZER 1148 —fRTE SRR A 11.5W=_ 4.9(C 41)m| 1 $55 PCiE ig R02
461| #4158 (F-20) —fiEThiE |7 EMERR A 7.7W=__ 4.8 (C 40)m| 1 Hi1 RCiE I R02
462\ D BB —fgmE | R A 59W=_ 56 ( 50)m| 1 $55 RCHE I R02
463| A TS —feThiE | FRER A 5.8W=_ 3.6 ( 3.0)m| 1 $55 RCiE I R02
464| KE1#E 28T | AR A 6.2W=__ 4.4 ( 3.9)m| 1 835 RC#E ig R02
465|FE B8 —iETE | KEFRIER A 6.3W=_ 3.6 ( 3.0)m| 1 S35 PCiE I R02
| 466|425 (F-21) —femE Rt 2 —) A 5.5W=__ 4.6 ( 4.0)m| 1 $62 RC#E I R02
467|418 (F-22) —iRTE | KFF T EFISER A 2.1W=_10.1 C 9.7)m| 1 H14 &y b g R02
|_468|ith 5 —femE |[RERR A 2.4W=__ 3.5 (C 31)m| 1 $53 RC#E I R02
469| #4158 (F-23) —feTiE SRS A 2.3W=_ 5.7( 57)m| 1 H13 &y b I R02
| 470|442 45 (F-24) —fgmhiE | KEF11EH A 2.0W=__ 56 (C 56)m| 1 H13 A yhRpn b I R02
NFEe BRI —fgiE | KEFAHRE A 13.5MW=_ 5.2( 40)m| 1 H16 PCiE I R02
| 472|442 45 (F-25) —MhiE |AHRISHE A 2.5W=__ 4.6 ( 40)m| 1 H2 A yhRpn b I R02
473|418 (F-26) —feiE |AHRISHE A 2.5W=_ 4.6 ( 40)m| 1 H6 &y b I R02
| 474|248 (F-21) —fgmiE |AR6SH A 2.6W=__ 4.8 ( 40)m| 1 H7 A yhRpn b I R02
475/ )4E —feThiE S EERHR A 9.6W=_80( 6.8)m| 1 H15 RCE I R02
476|181 E/ME —#ehE |+5E125468 A 4.5W=__35(C 3. 1)m| 1 $36 RC#E ig RO4
477 TERE —feThiE |[+5E2154% A 4.7W=_ 50(C 42)m| 1 S27 RCE I RO4
478|811 —HeThiE |+58255 4% A 5.3W=__ 3.4 ( 3.0)m| 1 S46 RC#E ig RO4
A19ERHE —fEThiE |+5E395 4% A 7.5\W=_ 45(C 40)m| 1 S31 RCiE I RO4
480| & )11#8 (H-1) —fgmE |+565 R A 3.6W=__ 2.5(C 21)m| 1 528 RC#E ig RO4
481|t3R#8 28p i |+ 10154 A 13.5MW=__ 6.4( 52)m| 1 S61 PCiE I RO4
482| KB —#eTHE |+551065 4 A 12.0W=__4.0( 3.6)m| 1 S47 RC#E ig RO4
483| kD AE —feThiE |+551065 4 A 10.1W=_ 4.0(C 3.6)m| 1 S47 RCiE I RO4
484 REREAE —#eTHE |+551065 4 A 14.6/W=__ 4.2 ( 3.7)m| 1 S47 RC#E ig R0O3
485|448 —feThiE |+551065 4 A 12.0W=__4.0(C 3.6)m| 1 S47 RCiE I RO4
486|F BB —#eTHE |+551065 4 A 2.5W=__ 3.6 ( 3.6)m| 1 S47 RC#E ig RO4
| 48748 R4S —feThiE |+551065 4 A 8.0W=_ 4.1( 36)m| 1 S47 RCiE I RO4
| 488 2(% 148 —#eTHE |+551065 4 A 1.7W=__40(C 3.6)m| 1 $39 RC#E ig RO4
489| KiR#E —feThiE |+5E10754 A 10.1W=_ 4.0(C 3.6)m| 1 H2 RCiE I RO4
490| R iEi5 —#eHE |+5E10754 A 9.3W=__ 40(C 3.6)m| 1 H2 RC#E ig RO4
91|58 —feThiE |+5E10754 A 10.0W=__ 4.0(C 35)m| 1 $32 RCiE I R02
492| LB —#eHhE |+5E1075 4 A 6.6W=__ 40(C 3.6)m| 1 $39 RCHE ig RO4
493 |3 EEAE —feThiE |+5E10754 A 8.9W=_ 4.2( 38)m| 1 S39 RCiE I RO4
494| L MRS —#eHE |+5E1075 4 A 10.0W=__ 4.0( 3.6)m| 1 H2 RCHE ig RO4
495| FR#B —feThiE |+5E10754 A 7.0W=_ 40(C 35)m| 1 S34 RCiE I R02
496| B K4E —#eHhE |+5E1075 4 A 6.0W=__ 40(C 3.6)m| 1 835 RCHE ig RO4
497| Fit8 —feThiE [+5510754 A 7.5W=__ 40(C 3.6)m| 1 $33 RCiE I RO4
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498| AO#8 —feThiE |+5E10754 A 6.1W=_ 40(C 3.6)m| 1 S37 RCiE I RO4
499|EEDF4E —#eHE |+5E1075 4 A 3.5W=__ 40(C 3.6)m| 1 $35 RC#E ig RO4
500| B K45 —feThiE |+5E10754 A 7.5W=__ 40(C 3.6)m| 1 S35 RCiE I RO4
501| #4418 —#eHE |+5E1075 4 A 8.0W=_ 40(C 3.6)m| 1 H1 RCHE ig RO4
502|{EA BB —feThiE |+5E10754 A 9.1W=__ 40(C 3.6)m| 1 H1 RCiE I RO4
503| B FERIHE —#eHE |+5E1075 4 A 6.0W=__ 45 (C 41)m| 1 $38 RCHE ig RO4
504| K45 —feThiE |[+5E11354 A 4.8W=_ 5.0( 50)m| 1 $59 RCiE I R02
505| B & —#eHE |+5E11654 A 6.1W=__ 53 ( 45)m| 1 S41 RCHE ig RO4
506| I R4E —feThiE |[+5E11954# A 12.1W=__ 4.1 (C 35)m| 1 H7 PCiE I RO4
507|BH&E —#eHE |+5E1205 4 A 10.4W=__ 7.4  6.5)m| 1 H7 RCHE ig RO4
508 |/ LIK#E —feThiE |FEITER A 7.5W= 2.7(C 2.2)m| 1 S63 RCE I RO4
509|/MLI/INE — i |FEITER A 2.0W=__ 56 (C 51)m| 1 $52 A yhRpn b ig RO4
510| 7R J1I#E (H-1) —feTE |FEITER A 8.4W=_ 3.7( 32)m| 1 $52 PCiE I RO4

| 511|#a4E48 24phiE |BISE50 5 4R A 3.6W=__ 56 ( 56)m| 1 S5 RC#E ig RO4
512|AEE 2pHiE |PFIEE505 4R A 3.2W=_ 7.1 ( 6.6)m| 1 S2 RCiE I RO4
513|FAEHE (HEEE) — #1145 A 11.5\W=__15.6 (_ 14.6)m | 1 H19 PCiE ig RO4
514|F8AFHE (AEHE) —fieThE |14 A 8.2W=_ 6.0( 55)m| 1 $25 il I RO4
515| 81145 (H-2) — g |FETTER A 4.6W=__ 9.3 (C 9.1)m| 1 $52 RC#E ig RO4
516| 751145 (H-2) —fgTiE |FEI3E 4R A 6.1W=_10.4 (.  9.1)m| 1 S6 RCiE I RO4

| 517|448 (H-2) —fgmE |ILEIAEHR A 2.1W=___ 6.0 3.9)m| 1 $55 A yhRpn b ig RO4
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120 11024 MG VR T N L 1,994 3.00 9.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
121 11025 =il WG B s 1,994 3.00 7.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
122 11028 i [ WA S 1,973 6.00 5.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk EHERRRIO0)
123 11030 K ETHE WA K A 1,976 13.00 4.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
124 11031 H A WA = A T 1,980 15.00 5.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
125 11032 B4 WG B o B 1,970 10.00 6.00 Al 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk EHERRID
126 11033 PEI AR VR T = ER AR 1,987 7.00 3.00 Tl 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
127 11034 A R N 1,980 3.00 5.00 W 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
128 11035 F 254 R KRR B 1,982 3.00 6.00 Tl 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
129 11037 TG WG ok B i 1,972 11.00 3.00 Tl 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
130 11039 Wl TG R s AR ALER 1,994 2.00 6.00 | BH/KE 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
131 11040 TR R AR E-#R 1,994 7.00 8.00 Tl 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
132 11041 K ILAE R VI 1,994 5.00 5.00 Tl 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
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133 11042 TEIE AR WG Vo PN O R 1,997 3.00 8.00 Tl 100 0 0 0 0 100 0 0 0 0[S E B ARRRS), Sk E SRR
134 11044 R G WG —zEbz ER 1,956 10.00 8.00 Tl 100 0 0 0 0 100 0 0 0 0 ,ﬁfﬁ:ﬁé,ﬂ;ﬁ ﬁ*ﬁ(RS) ﬁfﬁ-ﬁzﬂ;ﬁ 5$§(R10)
135 11045 T WA 2 B 1,978 14.00 400 [ )l 100 0 0 0 0 100 0 455 | 3,034 ) e —
136 11046 kol WA S 8 V5 PN R 1,973 7.00 5.00 Sl 100 0 0 0 0 100 0 0 0 0 ,ﬁfﬁ:ﬁéﬂ;ﬁ ﬁfﬁ(RS) ﬁfﬁ. ,q:_,ﬂ;ﬁ,mfﬁ(Rlo)
137 11047 [ pE=R T (RS 1,994 4.00 5.00 Tl 100 0 0 0 0 100 0 0 0 0[S T ERRRS), Sk E AR
138 11049 ] LB WA o] L) e 1,997 6.00 5.00 | BHKE 100 0 0 0 0 100 0 0 0 0[5k EHAMRS), Sk EHSRRI0)
139 11051 [ N W 1L 1,997 6.00 6.00 | 3JI| 0 100 0 0 0 0 100 0 0 0 |5k EH ARG), S EH SRR
140 11052 WG R i LU SR A5 1,997 7.00 5.00 Tl 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
141 11053 T i WA T 2R 1,950 8.00 3.00 Al 100 0 0 0 0 100 0 0 0 0 [ LA RS), A EHLA(R10)
142 11054 HAE WG 3 PN EE) | R AR 1,963 5.00 3.00 | BH/KEL 100 0 0 0 0 100 0 0 0 0 [ LA RS), Ak E LR (R10)
143 11055 RIEANE WG I N2 B 1,997 7.00 2.00 Al 100 0 0 0 0 100 0 0 0 0 [ LA RS), A e LA (R10)
144 11056 A6 WA T 5 b 1,996 6.00 8.00 Al 100 0 0 0 0 100 0 0 0 0 [ LA RS), A E LA (R10)
145 11057 2546 VR o 1,997 14.00 5.00 P 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk EHERRRIO0)
146 11058 FHEE VR B A AL BIEAR 1,997 400 11.00 el 100 0 0 0 0 100 0 0 0 0[5 EHAMRS), Sk EHARRI0)
147 11059 78 046 VR 22 B 1,996 4.00 6.00 | BH/KE 100 0 0 0 0 100 0 0 0 0 [ LA RS), A EHLE(R10)
148 11060 1) FH A VR T e 1,996 14.00 5.00 Tl 100 0 0 0 0 100 0 0 0 0 [ LA RS), A E LA (R10)
149 11062 G CEBAE) | Wi T 5 b2 1,996 13.00 8.00 Al 100 0 0 0 0 100 0 0 0 0 [ LA RS), A E LA (R10)
150 11062 i E OGERE) | W T 5 b 1,996 13.00 4.00 Tl 100 0 0 0 0 100 0 0 0 0 [ LA RS), A EHLE(R10)
151 11063 Bl VR Bk 1,973 5.00 3.00 | BEKE 100 0 0 0 0 100 0 0 0 0 [ LA RS), Ak E LA (R10)
152 11064 B2 VR 4 ER B 1,946 4.00 3.00 | BEKE 100 0 0 0 0 100 0 0 0 0 [ LA RS), Ak EHLE(R10)
153 11065 = PE3 VAT o 1,973 3.00 3.00 | EHKI 100 0 0 0 0 100 0 0 0 0 | /SR E B SRR (RS), AR & 9] A (R10)
154 11066 MtAG SNl A B2 1,937 3.00 3.00 | BHAK 100 0 0 0 0 100 1,391 9,274 0 O [soseemesines), s mahmio) 2 I, 2 ERERI2
155 11067 AR R B = RO 1,997 3.00 4.00 | BEAKE 100 0 0 0 0 100 0 0 0 0 [ LA (RS), A E LA (R10)
156 11068 G R oM R 1,991 2.00 6.00 | BH/KE 100 0 0 0 0 100 0 0 0 0 [ LA RS), A E LA (R10)
157 11069 KH 154 WA 17 1 2% F 5 1,994 4.00 7.00 Al 100 0 0 0 0 100 0 0 0 0 [ LA RS), Ak E LR (R10)
158 11070 K25 VR 5 FH BT A 1,994 4.00 5.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
159 11071 w2 TG R W2 T o nii 1,996 5.00 4.00 Tl 100 0 0 0 0 100 0 0 0 0 [ LA RS), Ak E LA (R10)
160 11072 BT WA T 5 b2 1,991 4.00 8.00 | BH/KE 0 100 0 0 0 0 100 0 0 0 [ E LA RE), A E L EMRLD
161 11073 [ HG WA T AR 1,997 4.00 3.00 Al 0 100 0 0 0 0 100 0 0 0 [ E LA RE), Ak E L AM(RLD
162 11074 BLH 1546 R A2 KRR 1,994 8.00 7.00 Tl 0 100 0 0 0 0 100 0 0 0 [ LA RE), Ak E L EM(RLD
163 11075 BLH2 546 VR FAZ R IB AR 1,994 3.00 8.00 Tl 0 100 0 0 0 0 100 0 0 0 [AH EHARRRG), Sk EHERRID
164 11076 KB WA A2 KRR 1,991 10.00 6.00 Al 0 100 0 0 0 0 100 0 0 0 [ E LA RE), Ak E L EM(RLD
165 11077 L3546 VR 5 B S 30 1,994 3.00 6.00 | BH/KE 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk E AR
166 11078 RN /IE W MR 1,991 7.00 6.00 Sl 0 100 0 0 0 0 100 0 0 0 [ LA RE), Ak E L EM(RLD
167 11079 MRS WG IR 1,997 4.00 8.00 Tl 0 100 0 0 0 0 100 0 0 0 [ E LA RE), A E L EMRLD
168 11084 S W — AT R 1,991 2.00 3.00 | BHAE 0 100 0 0 0 0 100 0 0 0 [5F: EHARERE), Sk EHARRID
169 11085 BLH 4546 VR L P 1,994 6.00 5.00 | BEKE 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk E AR
170 11087 MAREI-1) R B2 R B 1,991 2.00 6.00 Tl 0 100 0 0 0 0 100 0 0 0 [ LA RE), A E L EMRLD
171]  K0010 HELTAE WA HEJE AL B 1,997 5.00 5.00 Al 0 100 0 0 0 0 100 0 0 0 [ E LA RE), A E L EMRLD
172]  KO0011 A HE(1-2) WA A6 1,996 6.00 7.00 | BEKE 0 100 0 0 0 0 100 0 0 0 [ LA RE), A E L EM(RLD
173 K0012 A #E(1-3) WA AT R 1,996 6.00 5.00 Al 0 100 0 0 0 0 100 0 0 0 [ E LA RE), Ak E L EM(RLD
174]  KO0013 A (1-4) R AR SR 1,996 6.00 5.00 Tl 0 100 0 0 0 0 100 0 0 0 [ LA RE), A E L EMRLD
175  K0014 Y HE(1-5) W T FAEEISRR 1,996 4.00 5.00 [ 37Ji| 0 100 0 0 0 0 100 0 0 0 [k EHAR(RG), Rk EH AR
176  KO0015 A 5 (1-6) WA FAEH 12587 1,996 4.00 5.00 | BHKES 0 100 0 0 0 0 100 0 0 0 [ E LA RE), Ak E L AM(RLD
177]  K0016 A7) WG AR 1,996 6.00 5.00 Tl 0 100 0 0 0 0 100 0 0 0 [ LA RE), Ak E L EM(RLD
178]  KO0017 A5 (1-8) VR KIS B 1,994 4.00 5.00 Al 0 100 0 0 0 0 100 0 0 0 [ E LA RE), A E L EMRLD
179  K0018 A5 (1-9) WG KRBT H6 55 1,994 6.00 7.00 Al 0 100 0 0 0 0 100 0 0 0 [ E LA RE), Ak E L EM(RLD
180 KO0019 A HE(-10) WG KIR3 SR 1,991 5.00 5.00 Al 0 100 0 0 0 0 100 0 0 0 [ E LA RE), A E L EMRLD
181  K0020 MAREI-11) WG 1357 1,994 2.00 7.00 | BHKEL 0 100 0 0 0 0 100 0 0 0 [ E LA RE), Ak E L EM(RLD
182] K0021 A HE(I-13) VR ] T 3557 1,994 8.00 5.00 Al 0 100 0 0 0 0 100 0 0 0 [ E LA RE), A E L EMRLD
183  K0022 MAHE(I-14) WG H— {035 1,991 4.00 5.00 Al 0 100 0 0 0 0 100 0 0 0 [ E LA RE), A L EM(RLD
184  K0023 ARE(I-15) WG H— {05 R 1,991 5.00 5.00 Al 0 100 0 0 0 0 100 0 0 0[S T HIRRRG), Sk EHERRID
185]  K0024 X RJ-16) VAT R B 1 SRR 1,991 5.00 7.00 | )i 0 0 0 0 100 0 0 0 0 100 [5H EHAFRRY), Ak B AR (R14)
186 D010l R WA & FFAX 22055 1,986 8.00 400 | )l 100 0 159 1,058 0 100 0 0 0 O [t BT, S AHRGRD), 5 HTRRS), Al EHABRIO)
187]  D0102 MBS WA == 1,987 8.00 | 11.00 Al 100 0 0 0 0 100 0 0 0 0[S T ARRRS), Sk E AR
188  D0103 i e WA i 41X 150 50 1,986 2.00 4.00 | BAKIL 100 0 0 6 305 100 0 0 0 O [t BT, S A RS), 5 HTRRD), e EHABRRI0)
189 D0104 =251 WG 441X 19958 1,990 4.00 4.00 | BEAKE 100 0 0 0 0 100 0 0 0 0[S T ARRRS), Sk E AR
190 DO0105 73516 WA == 1,978 12.00 9.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
191 D0106 FE 454G Wt 2 B 1,990 12.00 8.00 7)1 100 0 0 0 0 100 0 0 0 0 | A EHARRS), Sk B SRR R0)
192  DO0107 75516 R 54 1,950 400 | 13.00 | BEARK 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
193]  DO0108 76516 R NS 1,990 9.00 8.00 Tl 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
194]  DO0109 Wi =754 VR T B 441X 20558 1,990 4.00 5.00 | BH/KES 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
195] DO110 )8k WA HiE 74X 211 5% 1,983 6.00 5.00 Sl 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AU EHH SR (R10)
196/ DO111 Wi 797545 WG FE 41X 21157 1,990 3.00 6.00 Tl 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
197  DO112 1051 WG FE 41X 192 5% 1,977 9.00 4.00 Tl 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
193] DO113 1154 WG FE 41X 193 5% 1,977 5.00 4.00 Tl 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
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199 DOI114 M7 12546 WG == 1,977 8.00 9.00 Tl 100 0 0 0 0 100 0 0 0 0[S E B ARRRS), Sk E SRR
200 DO115 W7 13 546 W FiE 4K 194757 1,977 5.00 400 | )l 100 0 0 0 0 100 0 0 0 0 [ AR e BLIRRS), S EH S BR10)
201] DO116 Wi 14 516 W T FiE 4K 195757 1,977 5.00 400 [ )l 100 0 0 0 0 100 0 0 0 0 [ AR e BLSRRS), S0 EH S B[R10)
202 DO117 i 1551 VR 441X 198 54 1,978 4.00 400 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
203  DO118 Wi 16 516 W A F4X26 577 1,983 5.00 400 | )l 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S EH S B(R10)
204]  DOI119 i 17546 VR B 44X 56 B 1,983 7.00 6.00 el 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
205 D0120 1851 WA A A HF4 X 54758 1,989 7.00 5.00 Sl 100 0 0 0 0 292 1,281 0 0 0 [ emebrs, st b em o, fi: HHRID
206] D0201 15 WG & IF4TX 1695757 1,993 2.00 4.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S T ARRRS), Sk E AR
207  D0202 I G W T 7 & FFAX 100758 1,986 7.00 400 | )l 100 0 0 170 1,132 100 0 0 0 O st sms, seat: wa e, Btk FRQRO), A1t EMARRI0)
208  D0203 <3 e VWV P& H4X23 5k 1,983 400 | 1000 | u7Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S el S B(R10)
209 D0204 e T4TE VR T B & 4K 14 547 1,993 7.00 5.00 Al 100 0 0 0 0 100 0 0 0 0 |5 EHLERRS), A8 EHABRRL0)
210  D0205 IS i et P& H4X23 5k 1,987 12.00 500 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BARRS), S EH S B(R10)
211 D0206 FA B IF6 TG VR SFAK19 7581 1,993 3.00 400 | BHAKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk EHERRRIO0)
212 D0207 <RI iG W A 4K 23 5 1,993 4.00 5.00 | BHKIK 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S0 EH S BR10)
213 D0208 <8 i VWV P 4K 181 5% 1,986 6.00 500 [ )i 100 0 0 0 0 100 0 0 0 0 [ AR e BARRS), S0 EH S B(R10)
214]  D0209 F <RI iG W FA A F41X 183 Bt 1,986 4.00 7.00 Sl 100 0 0 0 0 100 0 0 155 1,033 [fehie i), st e felir1oy, 531 it ), - b1
215 DO0211 RS VR T FE 41X 196 5% 1,978 4.00 400 | BEKE 100 0 0 0 0 100 0 0 0 0 [ 5 EHLERRS), A8 EHABRRL0)
216 D0212 a2 51 VWV MET4X 2115 Ff 1,983 5.00 500 [ )i 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S el S B(R10)
217|  D0213 a3 51 VR T FE 41X 196 5% 1,978 4.00 400 | BEKE 100 0 0 0 0 100 0 0 0 0 |5 EHLARRS), S8 EHABRRI0)
218]  D0214 B &I 14516 W HiE 741X 197 58 1,978 4.00 4.00 | BHKIE 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AU EH SR (R10)
219  D0216 a6 51 VR T B & 41X 84 B 1,993 7.00 4.00 Tl 100 0 0 0 0 100 0 0 0 0 |5 EHLERRS), S8 EHABRI0)
220 D0217 a7 5 et P &4 X 12057 1,993 8.00 7.00 | 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S EH S B(R10)
221 D0218 A #E(D-1) W HiE 741X 213 5% 1,983 400 | 21.00 Sl 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AU EHH SR (R10)
222 D0301 U WA RIFFH3BIX313 50 1,985 2.00 3.00 | EHKI 100 0 34 229 0 100 0 0 0 O [ B, FAF AHRGRD), 0 HTRRS), e EHABRI0)
223] D0302 PR W FH 174 X 49758 1,989 2.00 6.00 [ BEAKI 100 0 0 0 0 100 83 553 0 0 [ mmabis, s 2 mm10), ik i@ 1D, S FTR®IZ)
224 D0303 PR3 51 Wt Y i 1,986 9.00 9.00 Al 100 0 0 0 0 100 0 0 0 0 [ 5 EHLER®RS), A8 EHABRRL0)
225 D0304 P A4 7546 WG FHRI41X 223 5% 1,993 9.00 5.00 Tl 100 0 0 0 0 100 0 0 0 0 |5 EHLARRS), S8 EHABRRI0)
226 D0305 MRS G et FHRIT4X96 5 1,986 7.00 5.00 [ 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S e S BR10)
227  D0307 P R7 54 N FHET41X 67587 1,989 5.00 2.00 7)1 100 0 0 0 0 100 74 495 0 O [ros s, s Emahmio) f SR, % FTH®RI2
228  D0308 P RIS 54 WG P RI41X.6 5 1,989 9.00 5.00 Tl 100 0 0 0 0 100 0 0 0 0 [ 5 EHLER®RS), A8 EHABRRL0)
229]  D0309 PRI 754 W P RIT41X.6 5 1,989 9.00 5.00 Sl 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AU EHH SR (R10)
230 DO0310 PRI1075-46 VR P RI41X.9 5 1,989 9.00 5.00 Al 100 0 0 0 0 100 0 0 0 0 |5 EHLARRS), S8 EHABRRL0)
231 DO0311 N WG P RI41X.6 5k 1,989 9.00 4.00 Al 100 0 0 0 0 100 0 0 0 0 [ 5 EHLARRS), A8 EHABRRL0)
232  DO0312 FIRIT12 546 VR FHRIT4X 12 57 1,989 9.00 5.00 1 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
233  DO0314 PRI 137546 VR T B 44X 39 547 1,989 9.00 5.00 Tl 100 0 0 0 0 100 0 0 0 0 [ 5 EHLAR®RS), S8 EHABRRI0)
234  DO0315 FI R 14546 VR FF4X505H7 1,989 11.00 5.00 )1 100 0 0 0 0 100 0 0 0 0[S T HARRRS), Sk E AR
235  DO0316 MRS S H6 et P& 4K 4557k 1,989 7.00 200 )l 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S EH S B(R10)
236 DO0317 KIEHE Wit B e 1,968 7.00 5.00 | )i 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S el S B([R10)
237  D0404 KW 4G WG JE& 3 IX152 547 1,987 5.00 3.00 | EHKI 100 0 0 0 86 672 0 0 0 O [#ebe s, g2 o), et EMAR W HTHRI0)
238] D0406 KIFH3 =15 WG JE& 3K 15257% 1,984 5.00 5.00 | BHKES 100 0 0 0 0 100 0 0 0 0[S T B ARRRS), Sk E AR
239  D0407 KIFHA 5 VR KIFH3X 160557 1,984 3.00 5.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
240  D0408 KIFHS 516 WA RIFFHBIX 163757 1,984 2.00 5.00 | )i 100 0 0 63 421 100 0 0 0 O [t BT, S A RS), 5 HTRRD), e EHABREI0)
241 D0409 KI-H6 =18 VW KIH3X 1647557 1,984 3.00 6.00 ] 100 0 0 0 0 100 0 0 89 595 [ru:iemabnrs), st EARRI0), B RAERIZ), W% TR 1Y)
242|  DO0411 FIFHR e NIRRT JoZ2 0 A i 1,985 6.00 | 10.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
243]  D0412 RIAHI T W K H3X 28575 1,985 6.00 3.00 Sl 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AUk E SR (R10)
244]  D0413 KIFH10546 WG KIFH3X287 =557 1,985 3.00 3.00 | BH/KES 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
245 D0414 KIFH 545 W T AL 1,993 3.00 8.00 | PBH/K 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AUk EHH SR (R10)
246  DO0415 KIFH 12546 WA RFFF3BIX306 757 1,985 5.00 400 | )l 100 0 109 725 0 100 0 0 0 O st sms, seat mar s, Bt FIHRQRS), A1t EMARRI0)
247 D0416 KIFH 13546 WG KIFH3X307 5787 1,985 4.00 4.00 Al 100 0 0 0 0 100 0 0 0 0 | EHLSRRS), S /uzﬂ;ﬁm HB(R10)
248]  D0417 RIAH 1454 WA KIFH3X292 7581 1,986 3.00 [ 10.00 | BEHAK% 100 0 0 0 0 100 0 0 0 173 [rbremtuRs), fbh: EMABRRIO), #ik: it R14)
249]  D0418 KAHI5 46 W K H3 X299 758 1,986 5.00 5.00 | BEKE 100 0 0 0 0 100 0 0 0 0 [5AR: EHHAURRS), AUk EHH SR (R10)
250] D0419 KAH16 4G W KA H3 X297 5 1,986 5.00 7.00 | BHKE 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AU EHH SR (R10)
251 D0420 KAHT 54 W KA H3 X325 75 1,993 2.00 3.00 | BEKE 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AU EHH SR (R10)
252  D0421 KIFHI18 4G WG KIFH3X326 7557 1,986 6.00 5.00 | BHKES 100 0 0 0 0 100 0 0 0 0 [ 5 EHLAR®RS), A8 EHABRI0)
253  D0422 KIFH22 4G WG KIFH3X 243557 1,993 7.00 5.00 | BEKE 100 0 0 0 0 100 0 0 0 0 |5 EHLARRS), S8 EHABRRI0)
254  D0423 KFIFH23 515 W LR 1,985 9.00 5.00 | BH/KR 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AUk E B SR (R10)
255 D0424 Ko B5kG W 431X 152 5% 1,987 5.00 5.00 el 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AU EHH SR (R10)
256| D0502 A 2516 VR N A 1,974 4.00 3.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
257] D0603 TIF1EAG VR A F2[X226 551 1,985 6.00 5.00 | BEKE 100 0 0 0 0 100 0 0 0 0 [5AR: EHHAURRS), AU EHH SR (R10)
258  D0604 251G VR FER2[X230 5% 1,985 5.00 5.00 [ 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BARRS), S EH S B([R10)
259  D0605 P3G VR FER2[X223 5k 1,985 6.00 5.00 [ 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BARRS), S EH S B([R10)
260 D0606 4G VR FER2[X223 Bk 1,985 5.00 5.00 [ 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BARRS), S EH S B([R10)
261 D0607 VRS WG 3K 70 57 1,993 7.00 9.00 | BH/KE 100 0 0 0 0 100 0 0 0 0 |5 EHLARRS), S8 EHABRRL0)
262]  D0608 TIF6 G VR B3 X 48k 1,984 2.00 8.00 | BE/KI 100 0 0 0 0 100 0 0 0 0 [5R: EHHAURRS), AU EHH SR (R10)
263  D0610 58 VR FER2[X231 5k 1,985 3.00 5.00 [ 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BARRS), S EH S B([R10)
264 DO0611 LG R FE3 XT38k 1,984 3.00 5.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EBARRRS), Sk E AR
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265 D0612 B 105 VR B3 X T35k 1,984 4.00 9.00 | BH/KE 100 0 0 0 0 100 0 0 0 0[S E B ARRRS), Sk E SRR
266| DO0613 FE 55 WG B3 X568k 1,990 7.00 8.00 | PH/KIL 100 0 0 0 0 100 0 0 0 0[S T HARRRS), Sk E AR
267| DO0614 FE12 516 WG 3K 75 B 1,990 5.00 400 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
268] D0615 13 = HG R K220 | i 1,990 2.00 7.00 Tl 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
269 D0616 VB 145 FG R B3 X 148 B 1,990 3.00 5.00 Tl 100 0 0 0 0 100 0 0 0 0[S T ERRRS), Sk E AR
270  D0617 15 oG WA 3K 132 547 1,990 7.00 5.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
271  D0619 FE1T 56 VR A H3IX 21058 1,982 2.00 3.00 | BH/KEE 100 0 0 0 0 100 0 0 0 0 |k EHLSRRS), S B SHR10)
272]  D0702 B 4G VR B 2X 223 Ef 1,985 5.00 5.00 Sl 100 0 0 0 0 100 0 0 0 0[5 EHAMRS), Sk EHSRRI0)
273 D0703 2 WG EE P 1,993 3.00 6.00 | PBH/KIL 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
274  D0705 =454 WG N3 X 122 B 1,987 3.00 8.00 | PH/KIL 100 0 0 0 0 100 0 0 0 0[S T B ARRRS), Sk E AR
275  D0706 =S5 WG N3 X 127 B 1,987 4.00 4.00 | BEAKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
276 D0707 6 VR AT N3 X 136 5% 1,987 4.00 4.00 | BEAKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
277] D0710 EN9 G VR KA HE 1,987 3.00 [ 12,00 | Bk 100 0 0 0 0 100 0 0 0 0[5 EHAMRS), Sk EHARRI0)
278]  DO711 AR WA EHIE 4 R 1,968 5.00 4.00 | BEKE 0 100 0 0 0 0 100 0 0 0[S EHARRRG), Sk E AR
279  DO0803 TR H A VR JTRB2 X 155557 1,993 4.00 4.00 Tl 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
280 DO0806 T RS B VR JrRB2 X 18257 1,985 5.00 5.00 | BH/KES 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
281 DO0807 Frii6 51 WG JrRB2X 179757 1,985 5.00 5.00 | BHKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
282  D0808 Pkl 54 WG JrRB2 X 18057 1,985 5.00 5.00 | BH/KES 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk E AR
283]  D0809 Jr k@8 =G VR Jrk@2 X 1815#¢ 1,985 5.00 5.00 | BEKE 0 100 0 0 0 0 100 0 0 0 [5F: EHARRE), Sk EHARRID
284  D0903 FA]UREE 515 WG FHEN F1X5 58 1,986 15.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[5 EEARR®RT), Sk EHERRI2)
285  D0904 FAENKFLUFRE | Wt | FHENKF2K177 54 1,989 5.00 5.00 | BH/KEL 100 0 0 0 0 100 0 0 0 0[S T HARRRS), Sk E AR
286|  D0905 FAENKF25/ | Wi | FHENITA 2171 E# 1,989 5.00 5.00 | BHKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
287  D0906 FAENKF3IZHM | Wt | FHEIKF2K 17055 1,989 5.00 7.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
288 D0907 FHEJTAT45R | Wit | PHEJTA F2K 166557 1,989 3.00 9.00 | BE/KI 100 0 0 0 0 100 0 0 0 0[5 EHARRS), Sk EHARRI0)
289  D0908 PHENNA TS 4 | Wi~ A H2IX 199587 1,989 5.00 5.00 | BHKES 100 0 0 0 0 100 0 0 0 0[S T B ARRRS), Sk E AR
290 DI1001 FHENH 1 515 WG FHEJTT2IX 198 577 1,989 4.00 5.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
291 DI1002 FHEH2 515 Wi | RN R2IK 1667587 1,989 5.00 5.00 | BH/KES 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
292 DI1103 FEN F1 27 R AT KA 1,955 5.00 8.00 | PH/KIL 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk EHERRRIO0)
293  DI105 FHEN F3 545 WG FHEN F2 X658 1,992 3.00 400 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
294  DI1106 FHE) L4 55 WG FHENTT2[X33 55 1,992 4.00 7.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
295  DI1107 FAEN 5B VR FPHEN E21X20 5% 1,990 5.00 3.00 W 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
296 DI1108 FHE) L6 515 WG FHEN E21X22 5% 1,990 4.00 7.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk EHERRRIO0)
297  DI1109 FHE ETEFG VAT £ 2 X 81757k 1,993 3.00 9.00 | /KK 100 0 0 0 0 100 0 0 0 0 |k EHLSRRS), S B SHR10)
298] DI1201 b LG WG AEIE1IX 136587 1,993 10.00 6.00 Tl 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
299]  DI1203 AL LA VR AT AL X355 1,993 6.00 400 | BEKE 100 0 0 0 0 100 0 0 0 0[S T ERRRS), Sk E AR
300 DI1204 AL L2 4G WG FHEN F2 X558 1,990 3.00 7.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S T HARRRS), Sk E AR
301] DI1205 A3 4G W AR X 1367577 1,993 5.00 6.00 | 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S EH S B(R10)
302  D1206 AL L4 4E VR AL X8R 1,991 6.00 5.00 Tl 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
303] DI1207 A LS 4G W AR X 18 5#~ 2,022 5.00 8.00 | )il 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S EH S B(R10)
304]  DI301 iR WG A H2IX 241 57 1,993 6.00 5.00 Al 100 0 0 0 0 100 0 0 0 0[S T B ARRRS), Sk E AR
305 DI1303 A2 515 WG A H2[X 240 5% 1,991 13.00 6.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
306 DI1304 Ab3 =G et AR X132 5% 1,990 4.00 500 [ )i 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S el S B([R10)
307]  DI1305 A4 515 WG AL 1X26 57 1,990 3.00 5.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk EHERRRIO0)
308  DI1307 A6 516 WG AKX 21 B 1,993 6.00 4.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
309]  DI1308 AT 56 WG ALK 20 57 1,993 4.00 2.00 Tl 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
310/ DI1309 Abs =G et AR X136 1,993 5.00 8.00 | )il 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S E B S BR(R10)
311 DI310 AL 516 VR NG 1,980 5.00 5.00 Al 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk EHERRRIO0)
312 DI311 A L1054 et AR X645k 1,986 5.00 6.00 | 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S EH S B(R10)
313  DI312 A1 54 VR ARl R 1,991 8.00 8.00 Al 100 0 0 0 0 100 0 0 0 0[S T HARRRS), Sk E AR
314] D140l £ 1 G VR KA B 1,980 12.00 8.00 SE] 100 0 0 0 0 100 0 0 0 0[5 EHAMRS), Sk EHARRI0)
315 D1404 a4 G WG TR 3T i 1,993 5.00 8.00 | BH/KE 100 0 0 0 0 100 0 0 0 0[S T HARRRS), Sk E AR
316 DI1405 S G WG T TR 3 X 8 o 1,993 6.00 7.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S T ERRRS), Sk E AR
317  DI1406 £ 6 i WG T TR R34 1,993 4.00 7.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
318  DI1407 e 7 G WG A 11X 41 B 1,993 3.00 4.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
319]  D1408 a8 G WG TR 1K1 i 1,993 6.00 7.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
320 DI1409 £ 9 i VAT FHAE A X 1,981 2.00 | 10.00 | EE/KI 100 0 0 0 0 100 0 0 0 0 [SH: EHLARR(RS), SRR & B AR (R10)
321  DI1410 P 10 545 WG I H3IX 340587 1,981 4.00 7.00 | BEKE 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
322  Di412 AR WG R X375 1,976 3.00 6.00 | PBH/KI 100 0 0 0 0 100 0 0 0 0[S EHARRRS), Sk E AR
323]  DI413 e 11546 et A0 PR 1 X605~ 1,986 8.00 5.00 [ 37Ji| 100 0 0 0 0 100 0 0 0 0 [ AR e BLARRS), S0 EH S BR10)
324 DI1502 WG R B2 IX 2 B 1,986 6.00 8.00 | PH/KIL 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk EHERRID
325  DI1503 T 22145 WG A H2[X 240581 1,954 7.00 5.00 Tl 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk EHERRID
326 DI1504 AR 515 WG FHENTT2[X 84 =% 1,989 5.00 5.00 | BH/KES 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk EHERRID
327  DI1505 AR 515 WG 2 [X 87 B 1,991 6.00 5.00 Tl 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk EHERRID
328  DI1506 A3 VR 0 2 [X 8075k 1,991 14.00 6.00 | 37Ji| 0 100 0 0 0 0 100 0 0 0 [ AR e B AARRG), S EH SRR
329  DI1507 AMRA G WG A H2[X 92 B 1,993 5.00 400 | BEKE 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk EHERRID
330 D1508 AR5 516 WG A H2[X 92 B 1,993 5.00 5.00 | BEKE 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk EHERRID
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331  DI1509 A6 516 VR A H2IX 102587 1,993 5.00 4.00 | BEKE 0 100 0 0 0 0 100 0 0 0[S EHIRRRG), Sk EHERRID
332  DI1510 AT 516 WG A H2IX 105587 1,993 3.00 4.00 | BEKE 0 100 0 0 0 0 100 0 0 0[S T HIRRRG), Sk EHERRID
333  DI511 AR 16 WG AEH2IX 11158 1,993 9.00 5.00 | BH/KEL 0 100 0 0 0 0 100 0 0 0[S EHARRRG), Sk E AR
334  DI512 AR 15 VR A H2IX 21358 1,993 4.00 5.00 | BH/KES 0 100 0 0 0 0 100 0 0 0 [A8 EHARRRG), Sk EHERRID
335  DI513 10546 R 0 R R R 1,993 2.00 7.00 | BEKE 0 100 0 0 0 0 100 0 0 0[S T HIRRRG), Sk EHERRID
336 DI514 A5G VR A H3IX 189547 1,981 2.00 6.00 | PBH/KE 0 100 0 0 0 0 100 0 0 0[S T HIRRRG), Sk EHERRID
337  DI516 A3 516 WG TR B3 IX 5 1,993 6.00 7.00 | BEKE 0 100 0 0 0 0 100 0 0 0[S T HIRRRG), Sk E AR
338  DI517 A4 751 WG FHENTT2[X 84 5% 1,989 4.00 9.00 | BH/KE 0 100 0 0 0 0 100 0 0 0 [A8 EHIRRRG), S EHERRID
339  DI1603 FE2FE WG FHEIX113 557 1,993 2.00 6.00 | PBH/KE 0 100 0 0 0 0 100 0 0 0 [A8 EHARRRG), Sk EHERRID
340  DI1605 FHAGE WG FHEIX112758 1,993 2.00 5.00 | BH/KEL 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk E AR
341  DI1606 FHES G WG FEIX1227553 1,982 4.00 5.00 | BH/KEL 0 100 0 0 0 0 100 0 0 0 [A8 EHIRRRG), S EHERRID
342  DI1607 FE6 G VR FE1X121 581 1,982 4.00 5.00 | BEKE 0 100 0 0 0 0 100 0 0 0[5 EHARRE), Sk EHARRID
343 D1608 TG WG FH3X218 57 1,982 5.00 5.00 | BH/KES 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk EHERRID
344  DI1609 TS HG VR FE3X 2195 H) 1,982 5.00 5.00 | BEKE 0 100 0 0 0 0 100 0 0 0 [5F: EHARERE), Sk EHARRID
345  DI1610 FHEY TG WG FHE1X135557 1,982 5.00 5.00 | BH/KES 0 100 0 0 0 0 100 0 0 0 [A8 EHARRRG), Sk EHERRID
346  DI1701 FEBHISAE VR AT B H3X232 54 1,981 5.00 5.00 | BHKEL 0 100 0 0 0 0 100 0 0 0 [AH EHARRRG), Sk EHERRID
347  DI1702 FEBH2 G VR AT FE B H3X237 5 1,981 4.00 4.00 | BEKE 0 100 0 0 0 0 100 0 0 0[S EHARRRG), Sk EHERRID
348  DI1803 R 51 WG I3 IX 195557 1,981 3.00 5.00 | BH/KES 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk E AR
349  DI1804 W25 VR HIR3 X198 57 1,981 4.00 5.00 | BH/KES 0 100 0 0 0 0 100 0 0 0 [A8 EHIRRRG), S EHERRID
350] D1805 HR3 51 WG HIR3 X 1967557 1,981 4.00 5.00 | BHKES 0 100 0 0 0 0 100 0 0 0[S EHARRRG), Sk EHERRID
351  DI807 IS HHE VR HIR3 X 24557 1,981 4.00 5.00 | BH/KEL 0 100 0 0 0 0 100 0 0 0[S T HIRRRG), S EHERRID
352  D3501 KRG VR KIFH3X330557 1,986 6.00 8.00 | BH/KE 0 100 0 0 0 0 100 0 0 0[S EHARRRG), S EHERRID
353 K0025 A #5(D-2) WG F & JF4IX 8 5 1,989 8.00 8.00 Tl 0 100 0 0 0 0 100 0 0 0 [A8 EHARRRG), Sk EHERRID
354 K0026 FRO B WG VR~ HUIT TR 1,952 6.00 4.00 Tl 0 100 0 0 0 0 100 0 0 0[S T HIRRRG), Sk EHERRID
355 K0027 ekial WG VR AHIT TR 1,951 10.00 4.00 Al 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk E AR
356] K0028 TN WG VR HIT TR 1,974 11.00 7.00 Al 0 100 0 0 0 0 100 0 0 0[5 T HARRRG), S E AR
357 K0029 12 O 4% WG VR HUIT TR 1,974 8.00 7.00 Tl 0 100 0 0 0 0 100 0 0 0 [A8 EHIRRRG), S EHERRID
358 K0030 E Gl WG VR HIT TR 1,980 8.00 8.00 Al 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk EHERRID
359  K0031 51l WG VR AT TR 1,953 12.00 5.00 Al 0 100 0 0 0 0 100 0 0 0[S T HARRRG), Sk E AR
360  K0032 A #5(D-3) VR A < TR 1,950 4.00 9.00 | BH/KK 0 100 0 0 0 0 100 0 0 0 [A8 EHARRRG), Sk EHERRID
361 F1001 [P e WG ) 1,960 3.00 7.00 | BEKE 0 0 100 0 0 0 0 100 0 0 [A8 EEARRT), Sk EHERRI2)
362 F1002 kA VR T Fi] F =4 1,960 3.00 4.00 | BEKE 0 0 100 0 0 0 0 100 0 0 58 EHLABRERY), S EHABRRL)
363 F1004 WG WGl B i 1,971 10.00 5.00 | )i 0 0 100 0 0 0 0 100 0 0 [ AR e BARRY), S EH A RRID)
364  F1006 =115 R EHR 1,952 13.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEAR®RT), Sk EHERRI2)
365  F1007 TG R TR TR 1,952 6.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0 [ @A RY), Ak ENER2)
366 F1008 (Ll A% R AT = 1,970 7.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
367  F1009 wEE VR T RN 1,998 11.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
368  F1011 A 15 R PN 1,967 6.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
369  F1014 WA WA PNEEER ] 1,992 15.00 6.00 Al 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), S EHERRRI3)
370  F1015 AIAE WA PNEEER o] 2,021 2.00 6.00 | PBH/KE 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
371 F1016 A Z A WG PNEGT T ) 1,972 3.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
372 F1017 MG R PNEGT T ) 1,982 6.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
373 F1018 PGB 2 1 WG PNET T ) 1,972 3.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
374 F1020 T2 UG VR T T2 Ui 1,983 9.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
375 F1021 KUIE VR T T2 Ui 1,962 9.00 3.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
376]  F1023 R WG WAL 055 1,974 5.00 6.00 Al 0 0 100 0 0 0 0 100 0 0 [A8 EEARRT), Sk EHERRI2)
377 F1026 G VR T o f 2,017 4.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
378]  F1027 el WA PN 2,020 3.00 3.00 | BH/KES 0 0 100 0 0 0 0 100 0 0 [A8 EEARRT), Sk EHERRI2)
379 F1028 il WA AR5 1,953 5.00 3.00 Al 0 0 100 0 0 0 0 100 0 0[S EHARRRT), Sk EHERRI2)
380  F1029 A 0)IG R AT R 1,974 4.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
381 F1030 HIEAE VR T T iR 1,965 3.00 6.00 | BH/KE 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
382 F1032 ARG WA SRR 1,961 2.00 3.00 | BH/KEL 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
383 F1033 N —H WA N 1,965 3.00 7.00 | BEKE 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
384  F1034 /N AR WA N 1,965 3.00 6.00 | BH/KE 0 0 100 0 0 0 0 100 0 0[S EHARRRT), Sk EHERRI2)
385  F1035 U WA WA B 1,984 6.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
386] F1037 YR TG WA WAELT %5 1,983 6.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
387  F1038 NS —G WG KY) EEF358) 1,955 6.00 3.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
388  F1039 WA VR T e 1,964 5.00 4.00 Al 0 0 100 0 0 0 0 100 0 0 S8 EHLARERY), S EHABRRL)
389  F1040 Gk WG A 1,972 11.00 8.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
390  F1041 P41 WG B 1,972 9.00 8.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
391 F1042 [EE ] R B 1,972 9.00 7.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
392  F1043 o AR R B b 1,973 14.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
393 F1045 PG N R AT o2 L AR ST 1,975 4.00 5.00 | BH/KES 0 0 100 0 0 0 0 100 0 0[S E B ARRRT), Sk EHERRI2)
394 F1050 R A W T E R 1,953 3.00 2.00 )1 0 0 100 0 0 0 875 5,936 0 0 [sebmmsn, et sarein, s 0 aH A TH®R2)

395 F1051 BN R Y h 1,955 4.00 3.00 Tl 0 0 100 0 0 0 0 100 0 0[5 EEARRRT), Sk EHERRI2)
396  F1052 e R AR o 1,955 4.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
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397 F1053 WA VR T - HEY g 1,990 3.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0 [ E B ARRRT), Sk EHERRI2)
398  F1054 F NG VR AT TRORE AR 1,961 2.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0 S8 EHLABRERY), S EHABRRL)
399 F1055 B WA RS 1,991 5.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EE AR, Sk EHERRI2)
400  F1056 ER A R £ BB i 1,953 2.00 5.00 | BH/KES 0 0 100 0 0 0 0 100 0 0[S EEAR®RT), Sk EHERRI2)
401 F1057 HN—1& WG EERIR ] 1,961 3.00 3.00 | BH/KEL 0 0 100 0 0 0 0 100 0 0 S8 EHLARERY), S EHABRRL)
402 F1060 MG WGl TS R 1,961 6.00 400 [ )l 0 0 100 0 0 0 0 100 0 0 [ AR e BARRY), S EH A RRID)
403 F1062 1 HAG WG A 1,988 2.00 7.00 | BEKE 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
404] F1066 JNEERE— A R T 5 L SR 1,991 10.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
405]  F1070 ER A VR B2 5/ 1,977 5.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
406]  F1071 BHA=E VR B2 5% 1,978 11.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
407  F1072 EAIE VR B2 5% 1,978 7.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
408]  F1073 EESZS VR T 16 B2 5 1,978 15.00 5.00 Al 0 0 0 100 0 0 0 0 100 0 [ EH IR (RS), S E L ERRRI3)
409  F1075 o RS N R AT R B 1,974 5.00 3.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
410  F1080 M4 156 (F-3) R AT B2 RS 1,990 3.00 6.00 Al 0 0 100 0 0 0 0 100 0 0[S EE AR, Sk EHERRI2)
411 F1082 ARG (F-4) WG B 2R 1,966 4.00 5.00 | BHKES 0 0 100 0 0 0 0 100 0 0[S EEAR®RT), Sk EHERRI2)
412]  F1083 INEROM VR /N2 R 1,976 2.00 8.00 | BH/KE 0 0 100 0 0 0 0 100 0 0 [A8 EEARRT), Sk EHERRI2)
413 F1089 A FGE(F-5) WA = H2 5% 1,971 2.00 2.00 | BEKE 0 0 100 0 0 0 0 100 0 0[S E B ARRT), Sk EHERRI2)
414]  F1094 JE AR VR T [0 1,963 4.00 3.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
415 F1095 BB VR T B AR 1,961 3.00 3.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
416]  F1098 T ERG WG T2 8 1,962 6.00 3.00 Al 0 0 100 0 0 0 0 100 0 0[5 EEARR®RT), Sk EHERRI2)
417 F1100 G R TR 1,986 11.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
418]  F1104 LG WG P JE 7 2845 1,971 2.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
419 F1106 ER—G W EJR1 5/ 1,953 3.00 6.00 | BHKE 0 0 100 0 0 0 0 100 0 0 [5R: EHAURRY), AU EHSUR(R12)
420  F1107 VK A VR EJ2 YR 1,955 3.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0 S8 EHLABRERY), S EHEABRRL)
421 F1108 H N YuAE WG A N 1,972 3.00 4.00 | BEAKE 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
422]  F1110 4, —H5(F-6) R AT H N 1,966 4.00 6.00 | PBH/KE 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
423 F1114 16 N AT 1 R 1,972 11.00 8.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
424 F1115 ok A WA JE T B 1,957 9.00 8.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
425 Fl1116 W BE WG T 1,976 14.00 5.00 | BHKES 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
426| Fl1121 765 )1 B4R N AT I BB 1,986 2.00 9.00 | BH/KI 0 0 100 0 0 0 0 100 0 0[S EEAR®RT), Sk EHERRI2)
427 F1123 TG N AT TN 1,991 3.00 4.00 | BEAKE 0 0 100 0 0 0 0 100 0 0 [A8 EEARRT), Sk EHERRI2)
428|  Fl1124 NG R AT PR 1,990 3.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
429]  F1125 o 4% WA A (L5 1,968 7.00 3.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
430| F1128 N AT VR T N7 AR 1,952 5.00 8.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEAR®RT), Sk EHERRI2)
431 F1129 L FZEHE WG S E AR 1,976 11.00 5.00 | BH/KES 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
432 F1130 B IR VW V5 B A JE R 1,988 5.00 4.00 ] 0 0 100 0 0 113 755 100 0 O b EABRY), 3 AR RI0), B FTHR11), £k I ARRI2)
433 F1132 o B R AT TR 1,951 7.00 8.00 | PH/KIL 0 0 100 0 0 0 0 100 0 0[S EHARRT), Sk EHERRI2)
434 Fl1152 ER W IR 2750 1,933 3.00 8.00 | FH/KI 0 0 100 [ 2,991 | 19,937 0 0 100 0 0 [seteeims, s tme, S o), Ab EMARRI)
435| F1154 ARG (F-T) WG H N1 577 1,997 3.00 400 | BEKE 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
436|  F1201 NN WA THRE RS 1,986 13.00 8.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
437 F1202 A K5 1(F-8) WA T RE RS 1,985 3.00 8.00 | BH/KE 0 0 100 0 0 0 0 100 0 0 S EHLABRERY), S EHABRRL)
438  F1203 A2 VR T T RE RS 1,985 14.00 8.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
439]  F1205 A #52(F-9) WG THRE RS 1,983 5.00 8.00 Al 0 0 100 0 0 0 0 100 0 0 S8 EHABRERY), S EHABRRL)
440| F1206 M4 53 (F-10) R AT TR ERE 1,983 3.00 8.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
441 F1207 M4 AE(F-11) N AT EER 1,992 3.00 4.00 | BEKE 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
442 F1208 EE R AT KB ST 1,990 6.00 6.00 Al 0 0 100 0 0 0 0 100 0 0 [A8 EEARRT), Sk EHERRI2)
443 F1209 PN WG INTG ) 1,991 3.00 4.00 | BEKE 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
444 F1213 I WA 0V SR 1,989 14.00 8.00 Al 0 0 100 0 0 0 0 100 0 0 [A8 EEARRT), Sk EHERRI2)
445 F1214 IR WA 0V SR 1,990 5.00 8.00 YA K 0 0 100 0 0 0 0 100 0 0[S EHARRRT), Sk EHERRI2)
446|  F1216 TIE3 546 WA 0V SR 1,990 5.00 8.00 YA K 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
447 F1217 FE WA A WG 0V SR 1,991 14.00 8.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
448 F1218 JNERG WA 0V SR 1,991 15.00 8.00 Al 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), Sk E L ERRI3)
449 F1220 JLREE VR BOARKER 155 1,996 13.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
450  F1221 A K (F-12) WG JEIE N2 5 1,992 2.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EHARRRT), Sk EHERRI2)
451 F1223 ML HE2(F-13) WR AT 15 F25 1,925 2.00 4.00 | BAAKE 0 0| 1,149 6,995 0 0 0 100 0 O [kt fm e aRED, 2 THERS), AR EIARR2)

452|  F1224 G R AT H AR 1,987 2.00 | 10.00 | BEAGK 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
453 F1226 I WA A A 1,955 4.00 400 | BEKE 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
454 F1228 KEE WG P ENITER S 1,996 8.00 5.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
455 F1230 WA AE(F14) R AT L2 F 2,001 9.00 5.00 Gl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
456| F1232 AREFLS) WG NV 2,001 7.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
457 F1234 MAAEFLT) N R AT ST 1,990 10.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
458| F1235 WA AE(FL8) N R AT 178 )1 S 1,990 11.00 6.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
459]  F1236 WA AE(FL9) N R AT 7 1,994 5.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S E B ARRRT), Sk EHERRI2)
460| F1238 NG VR T AR 1,980 12.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
461 F1239 M4 A8 (F-20) N R AT 7% H AR 1,999 8.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
462| F1240 L~ R R 1,980 6.00 6.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
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463 F1241 TS R R 1,980 6.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0 [ E B ARRRT), Sk EHERRI2)
464  F1242 KUIHE VR T N7 AR 1,960 6.00 4.00 Tl 0 0 100 0 0 0 0 100 0 0[S EHARRRT), Sk EHERRI2)
465|  F1243 G WA KB B 5 1,960 6.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EE AR, Sk EHERRI2)
466| F1244 M4 A8 (F-21) Wit B A —iE 1,987 6.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEAR®RT), Sk EHERRI2)
467  F1245 A K (F-22) WG KB T 36 M 2 B 2,002 2.00 | 10.00 | BEAR 0 0 100 0 0 0 0 100 0 0 S8 EHLARERY), S EHABRRL)
468|  F1246 H_EAE WG BT 1,978 2.00 4.00 | BEAKE 0 0 100 0 0 0 0 100 0 0[S E B ARRT), Sk EHERRI2)
469]  K0033 A K (F-23) WG ENE 2,001 2.00 6.00 Tl 0 0 100 0 0 0 0 100 0 0 S8 EHLARERY), S EHABRRL)
470  K0034 A K5 (F-24) WG KB 2,001 2.00 6.00 | PBH/KI 0 0 100 0 0 0 0 100 0 0 S EHLABRERY), S EHABRRL)
471| K0035 W E NG | e PNV 2,004 14.00 5.00 Al 0 0 100 0 0 0 0 100 0 0 S8 EHLEBRERY), S8 EHABRRL)
472]  K0036 A K (F-25) WG AR 1,990 3.00 5.00 | BEKE 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
473 K0037 A K5 (F-26) WG AR 1,994 3.00 5.00 | BEKE 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
474]  K0038 A KE(F-27) WG H N6 5% 1,995 3.00 5.00 | BEKE 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
475 K0039 JNE) | VR T A R 2,003 10.00 8.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
476]  HA002 N WG T 12557 1,961 5.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [ LA (RS), Ak e WLA(R13)
477 HAO003 /NERG WG 21500 1,952 5.00 5.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T H IR RS), Sk EHERRRI3)
478] HA004 N WG T 255 1,971 5.00 3.00 Tl 0 0 0 100 0 0 0 0 100 0[S T H AR RS), Sk E L ERRI3)
479]  HA006 HEAE WG T390 1,956 8.00 5.00 Al 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), Sk EHERRI3)
480 HAO16 A)HEH-1) WG +EE96 R 1,953 4.00 3.00 Tl 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), S E L ERRI3)
481 HAO17 I WG 1101 =5 1,986 14.00 6.00 Tl 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
482]  HAO19 KEKE VR T T 5106 =7 1,972 12.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [ T H AR (RS), Sk EHERRI3)
483 HAO021 PO AR VR T T 5106 =7 1,972 10.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0 [ EH IR (RS), S EHERRRI3)
484 HA022 BB FeAf VR T T 106 =77 1,972 15.00 4.00 Al 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), Sk EHERRRI3)
485 HAO023 BUE WG T 5106 =7 1,972 12.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T H IR RS), Sk EHERRRI3)
486| HA024 ARG VR T T 106 =7 1,972 3.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), S EHERRRI3)
487 HAO025 W5 B WG T 5106 =7 1,972 8.00 4.00 Al 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), S E L ERRI3)
488|  HAO026 HixTE VR T T 5106 =7 1,964 4.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [ EH AR (RS), S E L ERRRI3)
489]  HA027 KRG VR T 1107 =5 1,990 10.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
490 HAO028 G WG 1107 =5 1,990 9.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [A T H IR RS), Sk E A RRI3)
491]  HAO029 XA VR T TH107 =5 1,957 10.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
492]  HAO030 L HitE WG TH107 =5 1,964 7.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T H IR RS), Sk EHERRRI3)
493] HAO31 e VR T 1107 =5 1,964 9.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0[S T H AR RS), Sk E L ERRI3)
494]  HAO032 MG WG 1107 =5 1,990 10.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [A T H IR RS), Sk E A RRI3)
495  HAO033 T-RIG WG TH107 =5 1,959 7.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
496] HAO034 EAKG WG TH107 =5 1,960 6.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0 [ LA (RS), Ak E LA (R13)
497 HAO035 T5 kG WG 1107 =5 1,958 8.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), Sk E L ERRI3)
498]  HAO036 PN WG TH107 =5 1,962 7.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [ EH IR (RS), S EHERRRI3)
499]  HAO037 BEOF4E VR T TH107 =5 1,960 4.00 4.00 Al 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), S E L ERRI3)
500 HAO038 RS R 1107 =5 1,960 7.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
501 HAO039 WEIGHE WG 1107 =5 1,989 8.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), S EHERRRI3)
502  HAO040 N WG TH107 =5 1,989 9.00 4.00 Al 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), S E L ERRI3)
503  HAO041 EETIE R AT TH107 =5 1,963 6.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [ EH AR (RS), S E L ERRRI3)
504  HAO043 NS VR T THB113 57 1,984 5.00 5.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
505 HA044 BEKE WG TH116 77 1,966 6.00 5.00 Al 0 0 0 100 0 0 0 0 100 0 [A T H IR RS), Sk E A RRI3)
506] HAO045 o)1 B WG THB119 57 1,995 13.00 5.00 Al 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), S E L ERRI3)
507  HAO046 I WG T 120 57 1,995 10.00 7.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), Sk E L ERRI3)
508]  HBO0O1 ISR WG FA] 2537 = 1,988 8.00 3.00 Al 0 0 0 100 0 0 0 0 100 0[S T H AR RS), Sk E L ERRI3)
509  HB002 SN NG WG FA] 2537 = 1,977 2.00 6.00 Al 0 0 0 100 0 0 0 0 100 0 [A T H IR RS), Sk E A RRI3)
510 HBO003 RJIFEH-1) WG FA] 2537 = 1,977 9.00 4.00 Al 0 0 0 100 0 0 0 0 100 0[S T H AR RS), Sk E L ERRI3)
511 HB006 WAERS W~ Fi] 26 5075 1,930 3.00 6.00 | BHKE 0 0 0 100 0 2,517 | 16,783 0 100 O b b(Rs), BFH A RI0), 205 BRI, £ G0 AR RI)
512  HBO00S T =G WA FA] 2550 58 1,927 3.00 7.00 Sl 0 0 0 100 0 0 0 0 3,005 | 19,967 |mm:imisrs, sararte e fmis), & s

513  HB009 PES A GERAE) | Wi~ FAI 25 1 14575 2,007 12.00 | 16.00 Al 0 0 0 100 0 0 0 0 100 0 [ EH AR (RS), Sk E L ERRI3)
514  HB009 P AR (NER) | Wi Rl 25 1 14575 1,950 8.00 6.00 Al 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), Sk E L ERRI3)
515 HBO010 A)HE(H-2) WG Fa] 5577 % 1,977 5.00 9.00 Al 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
516] HBO13 JR)TRE (H-2) WA Rl 5593 i 1,931 6.00 | 11.00[ 7)1 0 0 0 100 0 0 0 0 100 0 [ AR e BARRS), S EH S BR13)
517  HBO014 A HE(H-2) WG ETIE ! 1,980 2.00 6.00 Al 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
518  HBO15 A HE(H-3) WG Rl 25 103 50 1,991 5.00 5.00 | BH/KES 0 0 0 100 0 0 0 0 100 0 [A T H IR RS), Sk E A RRI3)
519  HBO017 A HE(H-4) WG T B2 57 1,989 5.00 5.00 Al 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
520[  HC002 bALKE VR RS R 1,977 4.00 3.00 Al 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
521  HCO003 A)HEH-3) WG TR 1A 1,969 5.00 5.00 Al 0 0 0 100 0 0 0 0 100 0 [ T H IR RS), Sk EHERRRI3)
522 HCO005 WEKAG WG TREBAT SRR 1,980 8.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0[S E B AR (RS), Sk E L ERRRI3)
523 HC009 FTWVLEE WG TREH101 = 1,965 6.00 9.00 Tl 0 0 100 0 0 0 0 100 0 0[S EBARRRT), Sk EHERRI2)
524 HCO014 A HE(H-5) WG TR 11657 1,988 2.00 6.00 | PBH/KIL 0 0 0 100 0 0 0 0 100 0[S E B AR (RS), Sk E L ERRRI3)
525 HCO15 A K (H-6) WG TR 122 5 1,989 12.00 6.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T B IR (RS), S EHERRRI3)
526  HCO17 N WG TR 1,985 3.00 8.00 Tl 0 0 0 100 0 0 0 0 100 0[S E B AR (RS), Sk E L ERRRI3)
527  HDOO1 5 AR VR T ETRE 1,977 4.00 6.00 | BH/KE 0 0 0 100 0 0 0 0 100 0[S E B AR (RS), Sk E L ERRRI3)
528  HDO002 FES WG e 1,977 4.00 400 | BEKE 0 0 0 100 0 0 0 0 100 0[S E B AR (RS), Sk E L ERRRI3)
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529  HDO003 A HE(H-T) WG EEE ! 1,977 4.00 5.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T B IR RS), S E A RRRI3)
530 HDO004 I TG VR T L1250 1,977 4.00 5.00 | BH/KEL 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), Sk EHERRI3)
531 HDO005 WL 16 (H-8) R TR BER 1,985 4.00 4.00 bl 0 0 82 649 0 0 0 0 100 0 [rabaatie@n, s emam G THRES). A EARRI)

532 HDO007 A H5(H-9) WG ESVES! 1,971 5.00 2.00 | BEKE 0 0 0 100 0 0 0 0 100 0[5 EH AR RS), Sk E L ERRRI3)
533 HDO008 A FE(H-10) WG ESVES! 1,971 3.00 6.00 | PBH/KI 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), Sk E L ERRI3)
534  HDO009 PSR VR T L2050 1,977 11.00 3.00 Al 0 0 0 100 0 0 0 0 100 0[S EH AR (RS), Sk EHERRI3)
535  HDO10 EAEME WG MEES 1,970 14.00 3.00 Tl 0 0 100 0 0 0 0 100 0 0[S EEARRRT), Sk EHERRI2)
536 HDO13 = )16 WG WERES 1,977 6.00 4.00 Tl 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
537  HDO15 NG VR T L3350 1,994 13.00 6.00 YA K 0 0 0 100 0 0 0 0 100 0 [ T H AR (RS), Sk E L ERRI3)
538  HDO16 ElNG WG MER 1,977 9.00 5.00 Tl 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), S E L ERRI3)
539  HDO017 A REMH-11) WG L3850 1,977 12.00 2.00 Al 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), Sk EHERRRI3)
540 HDO18 A RE(H-12) WG L3850 1,977 7.00 3.00 Al 0 0 0 100 0 0 0 0 100 0 [ EH IR (RS), S E L ERRRI3)
541  HDO19 T hE R WA NMEE S 1,977 13.00 3.00 | )i 0 350 500 100 0 0 0 0 100 0 Jrarmosmatrgo oo, wentoms, s

542 HDO020 A RE(H-13) WG MEES ! 1,977 2.00 5.00 Al 0 0 0 100 0 0 0 0 100 0 [A8 E B IR (RS), Sk EHERRI3)
543 HDO021 A RE(H-14) WG L4850 1,977 3.00 5.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T H IR RS), Sk EHERRRI3)
544 HDO022 A RE(H-15) WG L4950 1,977 3.00 7.00 Tl 0 0 0 100 0 0 0 0 100 0[S T H AR RS), Sk E L ERRI3)
545 HDO023 ARG (H-16) WG L6350 1,977 3.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), Sk EHERRI3)
546 HDO026 = WG L6550 1,977 14.00 3.00 | BEKE 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), S E L ERRI3)
547 HDO027 A REH-17) WG ERREL ! 1,977 5.00 5.00 Tl 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
548  HDO028 ARG (H-18) WG LI 14500 1,984 4.00 4.00 Al 0 0 0 100 0 0 0 0 100 0 [ T H AR (RS), Sk EHERRI3)
549]  HDO030 SEERE WG ESPE ! 1,978 11.00 5.00 Tl 0 0 0 100 0 0 0 0 100 0 [ EH IR (RS), S EHERRRI3)
550 HDO031 Jb PG WG L1025 0% 1,982 7.00 4.00 Al 0 0 100 0 0 0 0 100 0 0[S EEARRT), Sk EHERRI2)
551  HO0001 A FE(H-19) WG Rl R 2129587 1,987 5.00 6.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T H IR RS), Sk EHERRRI3)
552 HO0002 A K (H-20) VR TR WA LR 1,987 3.00 6.00 Tl 0 0 0 100 0 0 0 0 100 0 [ T H IR (RS), S EHERRRI3)
553 HO0003 A RE(H-21) VR TR WS 4R 1,987 3.00 7.00 | BEKE 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), S E L ERRI3)
554 HO0004 A R (H-22) VR TR WS SRR 1,987 4.00 8.00 Al 0 0 0 100 0 0 0 0 100 0 [ EH AR (RS), S E L ERRRI3)
555 HO0005 A R (H-23) VR TR WA 65 1,987 4.00 5.00 Tl 0 0 0 100 0 0 0 0 100 0[S EH IR (RS), Sk E A RRRI3)
556] HO0006 A R (H-24) VR TR M SRR 1,987 5.00 5.00 Al 0 0 0 100 0 0 0 0 100 0 [A T H IR RS), Sk E A RRI3)
557 HO0007 A R (H-25) WG R 1,987 2.00 7.00 | BEKE 0 0 0 100 0 0 0 0 100 0[S T H IR (RS), S E L ERRI3)
558  K0040 KRBERAEE | W B s 2,019 36.00 2.00 T 0 100 0 0 0 0 100 0 0 0 [A8 EHARRRG), Sk EHERRID
559 11104 MAREI-17) R 8 HH T FH 10 58 1,994 2.00 5.00 | BH/KES 0 0 0 0 100 0 0 0 0 100 [k EHARRY), A EHAH(R]4)
560 HDO032 M4 f(H-26) R AT e 1,971 6.00 5.00 Al 0 0 0 0 100 0 0 0 0 100 [k EHAHRY), Ak EHAH(R]4)




